[This question paper conta1@4 printed pages.]

0 G P
Your R 11 c{g/’ ‘7

Sr. No. of Question Paper : 3080 GC-4

Unique Paper Code 1 22411403

Name of the Paper : Computers Apphca -
(BCH 4.3)

Name of the Course . B.Com. (Hons.)

Semester - IV

Duration : 1 Hour

Instructions for Candidates
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1. (a) State True/False: (4)
(i) ROM is a volatile memory.
|
(i) A network is interconnection of computers that
enable the users to share network resources.

(iii) A foreign key always uniquely identifies a record.

(iv) Chart created on the worksheet is called/ embedded
chart. (

(b) Answer in one line : 3)
(i) Define topology.
(i1) What is folder ?
(iii) What is the use of random sampling ?
(%) Frfofae o € o1 oo, Seo@ Wi
(i) ROM uvw amydfter ®fy 2 1
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What do you understand by network topology ? Describe

three commonly used network topologies. (&)
OR
What is a Payment Gateway ? How it works? (6)
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How traditional file system is different from database
system ? (6)

OR

What is operating system (OS)? Explain the types of
operating system based on processing capability. (6)
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4. What is DBMS ? Explain its advantages and limitations ?
(6)
OR
Explain the following with example : (6)

(i) Primary Key
(i) Alternate key
(iii) Secondary Key
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(a) Explain the different kinds of cybercrimes ? 9

(b) What is cyber security ? Describe the major steps that

should be taken to ensure cyber security. (6)
OR

(a) What are the domain name disputes ? Explain the
different kinds of domain name disputes and remedies

available to settle them. (%)

(b) Explain the various effects of cybercrimes. (6)
(%) R w9 A B @ emen Sk
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2,

(a) Define E-Contract. What are the essentials of E-
Contract ? Explain the different kinds of E-Contract ?
(%)

(b) Internet is a boon in today’s world however, it has certain

disadvantages. Comment. (6)
OR

(a) What are the objectives of IT Act 2000 ? What are the

exclusions from the Act ? (9)

(b) Describe E-Form. What advantages it has in comparison

to paper form ? (6)
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(@) Enmﬁaﬂa@wdﬁwqlmmméhﬁﬁ?ﬁgﬁﬁrﬁﬁm%am

GG

3. (a) What is Digital Signature ? Explain the process of

. . “ . . |
creation and verification of Digital Signature.

) |

|
(b) Describe the rules laid down in IT Act regarding

attribution and acknowledgement of receipt of E-

(6)

Records.

OR

(a) What do you understand by the term E-Governance ?

Explain the provisions of IT Act that facilitate E-
9)

Governance.

(b) Compare E-Signature with Digital Signature. (6)

(%) Rfvew wemR T @ 2 7 R sEmR @ go o
AT WA A AR o |
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3084 X
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(@) f-zwmer 3R Rfew swmer & g R |

(a) Describe the provisions relating to issue, suspension and
revocation of Digital Signature Certificate as per IT
Act. (9)

(b) Define Certifying Authority and describe the duties

performed by it. (6)

OR

(a) Explain the penalties and compensation available under

IT Act to provide legal protection to the owner of

®)

computer resources against cybercrime.

(b) Define Subscriber and describe his dutjes as per IT
Act. (6)
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Foxat ;
(b) Briefly discuss the following :

Wm%mmﬁw%mﬁﬁﬁm@m
g w ® Rg 1T S @ Jaid T A AR
aﬁqﬁﬁwaﬂﬁm !

(i) Punishment for sending offensive messages

()

(i) Punishment for disclosure of information in

breach of lawful contract (2x3=6)

(=) T S TR A @R 1T FRfFaw & sER 3gE

a1 o A | PRt Rl Rt :

(i) arEeR wRf~ae

5. Write notes on the following :

(i) @R s R 8=

(i) Cyber Forensic
(iti) e 3R A

(ii) Cyber Space Jurisdiction
‘ 2dar
(iii) Encryption and Decryption (3x5=15,
(F) W wam=w:
OR
(a) Differentiate between : (1) : AR WRAE F

(i) wEae &t IR ufern =

(i) Cyber crime and Conventional crime

(i) Private key and Public key (i) wER Jeotud AR WER I
(iif): Cyber contravention and cyber offence (@) Fraffe & adg 3 fe -
(3x3‘~‘9 ’

(i) e T@ =t 99 @ g «°©
P.T.O.
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(%) Fafmior whrsem § amma-frufor omet 1 wanfaa
_WWWWWW%l V.

(9) Enumerate the practical difficulties involved in installing

" (@) wifed dwmE yuret ® s frefated

a costing system in 2 manufacturing concern. 6 ; .
_ L -3 # SHa # wfafe wifEw
(b) Journalise the following transactions under the integral _ ‘ ;
accounting system : L9 Rs.
Rs. ‘ () He " Elel (50% SHUR) 3,00,000
()  Raw materials purchased (50% on | : (i) SAI_A 5 fa‘q e S 200.000
credit) | 3,00,000 :| '
(i) HHERE B ASRRE & 1,00,000
(i) Materials issued to production 2,00,000 o
(v) P i feg
(jiii) Wages paid to worker 1,00,000 = hea
(i) Factory overheads incurred | 40,000 @ =l Ui A
) 3 . .
(v)  Factory overheads charged to ™ M
production 50,000 wi) wia & fou sefeq gyt
(vi) Administrative expenses allocated T4 24
. 000
to job '
24,000 2
, (vi) TR W TR HA 250000
(vii) Finished goods at cost ‘
2,50,000 ;i
il B (viii) TR (50% ¥R W) —
viii) Sales (50% . - : G4t
(50% credit) 375,000

P.T.O.
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(5) , 3078
Or Cost A/c manual states that the factory overheads are
(Aga) to be recovered at 100% of direct wages. Administration
(@ “A good system of costing must place the same emphasis overheads at 10% of works cost and selling and
on cost control as on cost ascertainment.” Comment. 6 distribution- overheads @ Re. 1 per unit sold. The units
: i d were 4,000 and 257
(b) The following Profit and Loss A/c for the year ending of product sold and in hand wer
31st March, 2015 has been extracted from the books of respectively.
ABC Litd. : 9

Prepare :
Exoriand Lo Ao (1)  Statement of cost and profit as per Cost Alc

i -3-2015
i ) @) Reconciliation statement.

Particulars Rs. Particulars Rs. ($) ‘T Frateor =9 TF ST I5fT B o e
To Direct material 20,000 By Sales - e T I € TE A <ifeq fsa @ =i e
To Direct labour 10000 By Work in progress 1300 F WI" feoolt i)
To Factory expenses 9,500 By Finished stock in (@) fr=afafea sy s T & 3 19, 2015 &) IHTG
To Administration hand 2,700 EC ELCT ﬁfq ABC fafies & @ 9 Tremfag
expenses 5200 By net loss 2,000 foar mn % .
To Selling & distribution Y AR T ST
expenses 3,800 (31-3-2015 =Y wWHE T a8 & ferm)
To Interest on capital 1,000 faaror %, fagror -
To Goodwill written off 1,500 JeI GT 20,000 ﬁmﬁ n——
51,000

51,000

P.T.O.
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(6) 3078

10,000 HE TR ¥ 1300
0500 ¥R AATTH 2700
5200 e = 2,000

faga qm foato == 3,800
TSt W =S 1,000

T H a2 WA S 1,500

51,000 51,000

Wﬁﬁ@ﬁﬁﬂﬁﬁm%ﬁmmﬁmﬁ-

S Y ASGRAl H ¥ 100 RO Sg fhaAr S
¥ et Suferd ) e w S f
e foen soferd & SR 1 %, ¥R gfe T
1 A o S ¥ 10% o9 fRg S €1 R
= AR T AR iR T § gf e 4,000 3
257 %

TR Ffe .
) &9 &R A Fw, T oE & AR

2 WUE FHgq)

(@)

C)

(7) 3078
In a factory working six days in a week, a worker is paid
at the rate of Rs. 200 per day basic plus DA at 120%
of basic. He is allow-ed to take 30 minutes off during his
8 hour shift for meals break and 10 minutes recess for
rest. During a week, his card showed that his time was

chargeable 1o :

Job A 14 hrs
Job B 10 hrs
Job C ] 12 hrs

The time not booked was wasted waiting for a job. In
cost accounting how would you allocate the wages of

the worker for the week ? 6

Vani enterprise requires 90,000 units of a certain item
annually. The cost per unit is Rs. 3, the cost per purchase
order Rs. 300 and the inventory carrying cost Rs. 6 per

unit per year : _ 9

()  What is economic order quantity ?

P.T.O.
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(i) What should the firm do if the supplier offers

-discount as below, viz :

Order quantity Discount
4500—5999 2%
6000 and above 3%

(%) TwE & ©: & & @ TH SRl A T T

1 200 T WA SR IR WF HEME W W
6 F 120% fem STan ¥ I/ g W & 9l H
B B & fa 30 fie @1 s faem § iR
R & forw 10 fire =1 v faaan €1 39 9<©
IS HTE Y Ta Tora ¢ fF IqH qHg 76 TN

am R o

S A 4R
i B 10 52
St ¢ 12 9

< Pl 7@ o1 7w i ® fe T A
=34 T A o faufor # e ww wHAK

N o W wE waw § o S S
2

(9) 3078

(@) T T=IES H Th 5eH H1 St 90,000 IFR

(@)

= srgTaEa B ¥ it gfie @ 3 €, i
9 SRY F A 300 T T IR AERH F @
6 5. gfa gfe 9fa a¥ ¥

0) s Ffe w1 e T ?

(if) w5 9 g FE AT A gerr e
mmﬁf@%ﬁﬁmm%um:

YT WA g
4500—5999 e
6000 3N THY T 3%
or
(31r=)

The following particulars apply to a factory where X, Y

and Z work :
Normal rate per hour 25
Standard output per hour 5

P.TO.
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(10) 30

[n order to produce 200 units, time taken was as folloy
s

(in hours) :

X 20 hrs
Y 30 hrs
7 40 hrs

Calculate earning per worker under Halsey premium

system and Rowan premium system. 6
Distinguish between :
() Perpetual and periodic inventory system

() Bin card and store ledger account. 9

(%) & bt W, o x, v oiR z wvm & &, Fafafed

fomm = 2w ¥ .
WHHE T 9fq e 25
W SR A SedreA 5

200 R F FR FAH T gy W TR ©
(& ) .

X 20 T2
Y 30 2
/ 40 W

)

(11) 3078
sy iferm wgft S T i Tft F s
ofy = s @1 ufEwed S

(@) MW FORT :

(a)

®)

() wa i e A sone
Gy fo w2 SR seR deR o

Define activity based costing system. Enumerate its

special features. 6

The following annual charges are incurred in respect of
a machine s‘hop where the manual labour is almost nil.
There are five identical machines in the shop. Cost of
each machine is Rs. 3.20,000 and the residual value after

the expiry of the useful life of 10 years is Rs. 80,000 :

(/)  Power consumption p.a. as per
meter reading (Each machine uscs
10 units of power per hour @

Re. 1 per unit) Rs. 60,000

(i) Repairs and maintenance for five
machines p.a. Rs. 60,000

Pro



(12) Y078 T
- (i) Rent and rates for the shop p.a.  Rs.2, 40,000 . -
i ichti 0T @ sEE STER g HETE ¥ T OTHE
(v) Electricity and lighting for the
| & T 80,000 T- ¥ :
shop - Rs. 24,000

RGI: (A ffén & omER wfEd
| fosrelt #1 @Ud (THE HE
salary being Rs. 10,000 p.m. each o oft Her 10 i faeel
 im e R WO
ufa gfe ®) - 60,000%

(v) Supervision - two supervisors for the shop

(vi) Sundry supplies such as lubricating

oil, cotton ‘waste etc. for the shop  Rs. 20,000
Gy it wEiE @ fq A He

(vii) Canteen expenses for the shop p.a. Rs. 12,000
b i | 3R e W T 60,000 %.

(viiiy Hire purchase annual instalment

Giy 9fa it wfa o & e foReEn

payable for the machines including i TR 240,000 T.
Rs. 6,000 as interest Rs. 25,000 o @ e feh R T
You are required to compute the machine hour rate. 9 T A 24.000°%.
(m)maﬂ*ﬂﬁﬁmﬁﬁmwﬁﬁ?ﬁqﬁw | o) AT QA gdaas wid e
IR LT NP N ——— 7, ] C foEE AT 10,000 T TRAF H ¥
(W) 7 T W § Freffa afts @ o & o wh TG @ forg fafas wwml S

E[Ei Yofer du, ¥ H W geni 20000
R R SRR TR R CR A
HY

win e @ wid Al A @ 12000

> kY

LA L T S gt 120,000 & ¥ 3T



(a)

(viii)

(14) 3078
g @ o e @lit w
oy aftfe forwa foEd =a=t &
6,000 T. TIHA ©

25,000°%.

-mmﬂ?wﬁfﬁaawﬁwm%l

Or

(3re7em)

XYZ Ltd. which absorbs overheads at predetermined.

rates provides you the following information :

Overheads actually incurred Rs. 2,00,000

Overheads absorbed Rs. 1,50,000

Goods sold 13,000 units
Stock of finished goods 10,000 units
Stock of work in progress 10,000 units
(20% complete)

Unabsorbed overheads were due to rising price levels:

H .
OW would ynder absorbed overheads be treated in cost

accounts ? Giye
Give journal entries for the same. 6

(b)

(%)

(15) 3078

Explain the following items and state how you would

- deal with them in cost accounts :

0] Interest on capital
(i)  Spoilage of material

(iify  Fringe benefits. 9

xyz fafee 3 Frafafas gaad &t € S S
Sufterdl &1 qafuiia o0 W STeRifa Y At
%7

IqeE arad | fhu T 2,00,000 ¥
IRl & sEeifad & foar @ 150,000 %
13,000 g7
10,000 A
10,000 72

(20% T & T ¥)

A fasnt fowar =
TR A &1 2

wE T | F CF

FETifE S9ReT FNG B 9EY T WX S HRU

%rmmé@ﬁmmﬁawﬁaﬁﬁ
FQ fEnd® ? @& fau sHa wiafesr dfsg

P.T.O.
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(@) frefafed el H AR FNT R wg
ﬁqﬁmmé@ﬁﬁﬁﬁ@@:

(i) '51:61”1 T AN
Gy | w R
(i) ST fedeny |

Raja Transport Company supplies the following details with-

respect of a truck of 5 tonn_elcapacity £} 15

Cost of truck

Estimated life

Scrap value of truck after 10 years
Diesel, oil, grease etc.

Repairs and maintenance

Cleaner’s wages

Driver’s wages

l.nsurance

Tax

General supervision charges

Rs.

10,00,000

10 years

Rs.
Rs.
Rs.
-Rs.
Rs.
Rs.
Rs.

Rs.

40,000

200 per trip each way
5,000 per month
2,500 per mc_mth
5,000 per month
4,800 per year
2,400 per year

48,000 per year

(17) | 3078
The truck carries goods to and from city covering a distance
of 50 kms each way. While going to the city freight is available
to the extent of full capacity and on return 20% of capacity.

Assuming that truck run on an average 25 days a month, work

_out :

()  Operating cost per tonne km, and

(i)  Rate per trip that the company should charge if profit

of 50% on freightage is to be earned.

TS g Al ST 5 2 W T TF TH @ AR

§ frefafen qTrde sTee SR §
TH H A 10,00,000 &.

ATAT 3T 10 99

10 91 IS TH H T ST 40,000 T

TN, 99, W9 TR _2093.91%1%91%@

qd 3R e 5,000 . 9fd |8

FAR A AL 2,500 &. WA e
P.T.O.
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. C(19) 3078
following particulars are obtained at the end of the year

4,800 G. ufa ad : 31st December, 2016 : 15

Al
: Contract 501 Contract 601
- 2,400 %. wfa ad
(Rs.) (Rs.)
A A JUR 48,000 T. gfa =
. Contract price 3,00.000 2,50,000
% U T 50 iﬂi'i[- Eﬁ'bf _({\a T HIed Eh)' aﬁ 3?‘{ a © Materials issued 80,000 30,000
i
Sicicalcnt! ﬂi{EiI %| MR WA qHA 1{& alail % Materials returned 2,000 1,000
e [ ITAH el ﬁ?ﬁ % 3?1_{ 'EITCI'-Eﬂ ™ &Hdl ® 20% Materials on site 11,000 4,000
| 7 AR <h Uh He H SZ?IHH"‘T 25 fe7 = ! Direct labour 75,000 21,000
€ T AmE _ ' Direct expenses 33,000 17.500
() W = fFl. yeem o | Establishment expenses 12,500 3,500
: Plants installed at cost 50,000 45.000
(if) qﬁ%m@ﬂsmwuaﬁiﬁmmﬁﬁ%ﬁ" ‘
. Value of plant (Deéember 31) 42,500 42,000
T B iy B frg a1 =fe
Y T
Cost of work not yet certified 11,500 5,000
- :
Value of work certified 2,10,000 67.500
( Cash received ﬁ’Dl;’l contractees 1.89.,000 62.500
MG CO[] ® . {s,
Struction Company is engaged in two contra® Architect’s fees , 1,000 500
P.T.O.

cont he |
ontract number 5¢ and 601 during the year 2016. The
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Ouring the period. materials amounting 10 Rs. 4.500 have beey,
ansferred from contract 501 to contract 601. The date of

commencement of contract number 50) is 1st April and contract

number 601 is 15t September. You are required to show :
(i)  Contract accounts, and

(ii)  Extract from balance sheet as on 31st December, clearly

showing the calculation of WIP.
MG FFIA F A 2016 | 21 Afaes AfEe F. 501
3 601 T FH FT @ 81 31 [GF=w, 2016 FT AT TY
o & frafafea foamm ya go F -

dfaer so1 @facT 601

(%.) (%)
s Fim 300000 250000
R 80,000 30,000
T e & 2,000 1,000
L o 11,000 - 4000
9 gy

75,000 21,000

(21) 3078
¥9E =e 33000 17.500
=T =29 12.500 3.500
W W 993 =fE R omn 50000 45,000
T35 =1 9o (REar 51) 42,500 42,000

FH &I A 99 gEmd

T T T 11,500 5,000

| Tt w1 F 2,10,000 67,500
HfagafE 4w Aws 1,89,000 62,500
sfdheae &1 ®IF 1,000 500

39 ey H 4,500 T. H GHE TG 501 A FiewT 601
# ofa fem T ¥ WfoR WS 501 % gE T F
I | 3 § SR wfeer gEm 01 Y 1 fader § 1 suE
Hﬁﬁ’iﬁm%:

() dfe o@ IR

@y 31 TR T & gere ¥ frwifea, WP ® fEes
5w Wi F

PTO
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Find the equivalent production from the following dat,

under FIFO method : 5

Opening work in progress

23000 units

Degree of completion :

(h)

Materials 80%

Labour ' 60%

Overheads 60%
Units introduced 8,000 units
Closing work in progress ! 3,000 units

Degree of completion :

Materials 80%
Labour 60%
Overheads ‘ 60%

As
sume there are ng process losses.

The product of 5 manufacturing company passes
through two Processes X and Y and then to finished stock

acec ‘.
COunt. 1t is ascertained that in each process pormally

(23) ‘ 3078
5% of the weight of the‘ output is lost and 10% is scrap,
which from process X realizes Rs. 80 per tonne and from
process Y Rs. 200 per tonne. The following data is available

relating to both the processes for the month of December

2014 : 9

Process X ProcessY

Materials in tonnes - 1,000 70
Cost of materials per

tonne (Rs.) 125 200
Wages (Rs.) 30,000 10,250
Manufacturing expenses (Rs.) 6,000 5,000
Output in tonnes 830 780

There was no stock or work in progress in any process.

Prepare :

@) Process accounts showing cost per tonne of each

process.

(ify  Abnormal loss/gain account.

P.T.O0.
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(m)ﬁmﬁ@ﬂaﬂ%@ﬁﬂmﬁfﬂ%ﬁmﬁw

A 7@ A

s F i A 2,000 7f3
E i 80%
a4 60% |
3T 0% | \
v 7 8,000 fe |
sif wd wfa o 3,000 742 !
pucicates c
wt 80%
i 0% |
R 0%

TR T e b D g wh ot g ¥
S T P el o e x oy e @ iAo |
ST b S 1w A et o e b

(25) 3078
7% gt == faa mn ¥ f5 wadw wfea
THIIA: 3G T 5% R F9 & S & 3R 10%
W8 W ¥ W e ufE x @ g0 ® wft = ein
ufEar v @ 200 & wfa 2 aifSla @ ¥ feden
2014 W % forg 37 QA wfmmel | wefua sitws
frefafea & -

uferarx  wfekary
gtz 7 1,000 2
[t Y AT wfa 2q (%) 125 200
it (5.) 30,000 10,250
frmtor wrt (%) 6.000 5,000
Feqre 2| o 80 780

fapeft off wfpenr o g @l @ el wnla g el

o |
o wiforu .

¢y b A fent uea wlaen al wma vl

o yetela el

Giy e el e S



(26) - 3078
(27)

' 3078
Or . E

(v)  Works overheads are absorbed @ 60% of direct

(31913") ' . labour cost.

-

, (v)  Administration overheads are absorbed @ 12 per
(@) What is job order costing ? What are its special

|

II

‘ unit produced.
features ? Indicate at least rwo industries suitable for job |

(vi) Selling and distribution overheads are absorbed
order costing. 6 \

@ 20% of selling price.
(b) From the following information prepare a statement | (vii) Sales 7,600 units at a profit of 10% on sales price.
i
showing the cost and profit : ‘ >y (%) TS RY ARG &= g ¥ 7 TEn! ik
fagtoand &M & 7 FH-Y-FHA & TN Bl TAZY
: ino. losi
() Opening Closing | < i ys & Bm %
oy CONEE (@) Frefafas gael 4, @ iR @w H FeRi
| | FQ LR :
| FI Hifeq :
Raw materials 30,000 36,000 ' &
400 | 8
Work in progress 31200 38, ’.
B a (=) ()
Finished goods 200 units 1,600 units H=dl = 30,000 36,000
@ Rs. 84 pu. | FE W W ¥ 31,200 38400
gfE 1,600 I
(i) Purchase of raw material Rs. 1,88,500, carriage O" LRIRIN 200
purchases Rs. 2,500 and sale of scrap of raw materia1 | 34 & W A
Rs. 5,000, ' @it W W
' P.T.O.

(iil)  Wages Rs. 2,97.000.
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- (i)

(i)

(v)

(28) 3078

F= HIG T T T 1,88,500 B, Biie A

F A T W 2,500 F SR A Bl E R
fogt ¥ 5,000 T. IS T |
EEHE] 2,97,006 T |

wrm'mﬁwq TG 9H AT b 60% i

Y oEwifd X T T

)

(i)

wemEfe IufemEl w sdrfed gfiel W12
gfa gfte &1 W T rawiiE wT faa T
T

B 20% H W Y o wR ferm T

(vi)

7,600 ST 1, FIRa HIHT W 10% TH TR
fawt =t 1

8,200
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2 3079

(a) A two industry input-output relationships are given below;

Consumption Final GmssT
| 11 Demand Output
| 1 16 20 4 40
11 8 40 32 80
Labour day 80 120

Using matrix notations, determine :

(i) Gross output required to satisfy the new final
demand of 18 units and 44 units for industry I

and II respectively.
(i) Total Labour days required.

(iii) Equilibrium prices if wage rate is ¥ 40 per Labour
day. (8)

OR

A firm produces three products. PP, and P, prOCeSSed
on three machines M,, M, and M, before completion.
M, can process 25 units of P, or 50 units of P, or 73
units of P, per hour. M, Can process 50 units of any
one product per hour. M, can process 50 or 25 or 100

units per hour of products P, P, and P, respectively.

The processing hours available on machines M, M, and
M, are 12, 12 and 13 respectively. Using matrix
notations, find :

(i) How many units of three products can be
produced per day?

(i) The production cost per unit, if costs per hour of
operating machines M, M, and M, are ¥ 500,
T 1000 and T 1500 respectively.

(111) The total cost of production. (8)

(b) Mr. X has invested ¥ 35000, that he had divided into

three investments. Part of the money is invested in a
savings account with an annual return of 6%, partly in
7% annual yield bonds and the remainder in business.
In 2015, when he lost 6% of the money that he invested
in the business, his net income from all the three
investments is ¥ 660. If he invested T 3,000 more in the
business than in the savings account, how much was
invested in each. Use matrix algebra. 4)

OR

A manufacturer produces three products X, Y and Z
which he sells in three markets I, II, III. Monthly sale
and sale prices are given as follows;

PO
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Market Items Sold
b4 Y
I 1000 1500
1l 2000 2800
1l 3000 3500

2
2000
3000

4000 )

3079

Sale Price (in ¥

-

X Y
2.00 3.00
2.50 2.80

230 3.0

z'\

4.00
3.70

4.20

If the cost per item for three products X, Y, and Z ar
Z1.80, T2.50 and T 3.40 respectively, find by matri

algebra his total profit. (4)
(%) @ AW & ImE - e & gEn @ A fear e R
wud SNk Tl
I IT T Iged
I 16 20 4 40
1T 8 40 32 80 B
| &= 80 120

Aew AT & WERT I FuIRa AR
(i) e Sd 1k 0 R 18 aReY st 44 2R

(i) == s ™ Ra|

EQI o aﬁwnﬁa&qﬁ%ﬁqmwm

(i) =fF woEd = 40% WY s R @ A wwged

Jerar

e W P, P, 3R P, A A I A M,, M, 3t M,
e e R T e & 7w ¥ e 2 M, &=
Plaﬁzmﬁa’fmpzaﬁsoaﬁﬁmpsﬁﬁqﬁﬁ
Y W e daR A awd & 1 M, wEhe v I
& 50 FRET B A T AR FT wHA 2 M, T P,
p, 3K P, I # F 50 25 a1 100 FFE H FAW
¢ w2 1 W M, M, 3R M, W & fo e
12,12@113ﬂ%mﬁuﬁ@waﬁmﬁwmm
T o

() = vendl A R TR SRR YR A w7

(i) ofr e Ieae ANE YA @R AR M, M, S

M, WA & W A WA T AR A
500%, 1000% 3 1500 & 2 |

(i) e ST AOIE T MY |

fres X ¥ 35000 ® i Ry & o ofir = Saw @ e
¥ fyoi e 2 1 R =1 e et wae @ ¥ FEfE e
2 R affe wRwe 6% Femn 2, st s 7% @i
e e W A IR AW w EEE ¥ eww R 2015 F
S 3 T A 6% A g W I s ¥ Far e

P.T L),
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far o | 99 SEE I AR AW ¥ 660 T W Faw 3
Eé%?tmfésﬂ?raaﬂﬁﬁa?rmwﬁwmﬁm
£y g & & Tow ¥ I o o FRE R ) i
SomiE & F@T K

HAar

F fEEr X, Y 3R Z AWa 99 39E 99R & @ e
T 1,11 3R] [ M a0 2 | 39a e faent AR st 9w

r .
X Y z) ( x Y z)
I | 1000 1500 2000 2.00 3.00  4.00
i 2000 2800 3000 250 280 3.70
m {3000 3500 4000 230 310 420

~

afe ot smEew X, Y 3Rk Z 3t 9 3 9 Il e wA

1.80%, 2.50% 3 3.40%T & qr Afcaw Aemiom grr I

A AN AT Fif )

2. i :
(2) A firm manufacturing office furniture provides the

following i i '
downTg information regarding resource consumption
and availability and profit contribution :

3079 7

Resources Usage per unit Availability
Tables Chairs ~ Book case

Timber (cu. ft.) 8 4 3 640
Assembly deptt. _

(man hours) 4 6 2 540
Finishing deptt. 1 1 1 100
(man hours)

Profit contribution 30: 20 12

per unit ()

The firm wants to determine its optimal product mix:

(i) Formulate the LPP and solve with the simplex
method.

(i) Find the optimal product mix and the total

maximum profit contribution.

(iii) What are the shadow prices of resources ?

(12)
OR

A firm produces three products, A, B, C using three
resources (material, machine hours and labour hours).
The manager of the firm wants to find out the best
production strategy. By using Simplex technique, the

following solution was obtained.

P.T.O.
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C,— 30 40 10 0 0 0
BV X, X X S S, S; Quantity
S, 2 1 3 12 0 0 45
S, 3 0 12 -12 1 0 15
S 52 0 12 -12 0 1 35

(i) Do you agree that this is the best production
strategy ? If not, improve the solution to get the
best production strategy and indicate how much
quantity of each product should be produced.

(ii) Are all the three products produced ? If not, |

why ?

(iii) Are all the three resources completely used ? If

not, how much of which resource is unused ?

(iv) Can there be an alternative product mix which
gives the same total contribution ?

(v) What are the marginal worth of the resources ?

(vi) What happens if 15 machine hours are lost due
to some mechanical problem ? (12)
(b) A firm assembles and sells two different types of
outboard motor, A and B, using four resources. The

production process can be described as follows :

3079 9

Resources Capacity per month

400 Type A or 250 Type B units or
any linear combination of the two

Motor unit shop resource

Type A gear and drive 175 Type A units

shop resource

Type B gear and drive 225 Type B units

shop resource

200 Type A units or 350 Type B
units or any linear combination of

the two

Final assembly resource

Type A units bring in a profit of ¥ 90 each and type B
units Z 60 each. What should be the optimum product
(6)

mix ? Use graphic method.
OR

Obtain the dual of the following LP problem :
Minimize, Z = 5x, + 10x, + 15x; + 12x,
subject to the constraints :

2%, + 3x, + 7x; + x, 2 50

X, tX, T X = 45

—x, T 4x, T 5x; £ 30

Xy Xp0 X3 2 05 X, unrestricted in sign.

(6)

P.T.Q,
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(=) mqﬁmﬂﬁiﬁwaﬁaﬁﬁqﬁ,ma&W,
aumm@twﬁw%aﬁﬁﬁmﬁrﬁﬁ@ﬁﬁm
T:I-Tiﬁ?f%:
o iy afic ITE ERRER!
XN g IF S
ELUC G
(+ ) 8 4 3 =
waree v
(s ¥e) C4 6 2 540
ERIRCE T
(et =) 1 1 1 100
™ ¥ ANEH
w e 30 20 12

p—

T Y T Ie f & R ae ed 2

(i) LLP = g i s R faftr ¥ e e |

(i) o See fox st @w SR e AweE A9

HIT |
(iii) wEel & El S o ® 7

erdl

3079

11

T B A B 3R C AFE QO Srdl Y A q@eA 6
AN S AR H B (AR, W U SR s ue) | W
7 Wt FATER SeTeT ORI S S e 8 | R
T F TAm we RAeEkifEa g ww Ry

C - 30 40 10 0 0 0

BV

X, X, X, S § §
1/2 1 3/2 172 0 0 45
3/2 0 -12 -1/2 1 0 15
5/2 0 1/2 -1/2 0 | 35

(1) = 3T T8N Feue 2 foh T I IO Ieure I
2 7 oft 78 o wAw IR WG W @ & forg
B @l Uik 3R sast fF v=w S & e
AR I F A AM0RY |

T Y A e R T 9 € 7 gl A @ | 7

w1 Y A GEEE I0 WE w X 30 IR F 7l T
A TR wEUA 1 fha WW Imged 99 W@ 2 7

a7 ZaET FS e IR Ay ® 9w € W o
& ool AEE ¥4 € 7

gl & dea e aar @ 7

P.T.4¥
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(vi) wﬁm%ﬁﬁﬁﬂﬁ‘ﬁﬂ'ﬁﬁﬁ‘ﬂﬂ'&@mﬁ%
e @ O, G AqA S

wmﬁaﬂwﬁmmﬁAaﬂthaﬁq
ﬁqm%m@r&ﬁzﬁmaﬂwm%aﬂ?%ﬁ%|

Wmaﬁwmmwm%:

(=)

LRIbE] FHeT Ui AE
Aet AT WA FEEUA 400 T1EY A T 250 TEd B g
o = A & el e @

T A TR 3R 3 175 e’ A gHe
s
TEu B A 3R g 225 @rgd B gfe
oY GEH
B—
Hiem wao G 200 <Y A afi® a1 350 T B
| of o o A o e

Wor ddoer —
mwﬁﬁgoam%mawﬁﬂﬂ%i
T B AP ¥ 607w ¢ e A | FLEA I
Wﬁﬂ@q?mﬁvmﬁ%wmaﬁﬁql

uan

3079
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frafafea LP @wen &1 89 ogea= Fifor :

e e Z = 5x, + 10x, + 15x; + 12x,

T SIS B A
2x, + 3%, + Txy + x, 250
xl+x2+x4=45
X, +4x2+ 5X, < 30

xl,xz,x320;x4mﬁﬂ'§wﬂ'

3. (a) A firm acquires its annual requirements in 5 orders

of 1000 units each at present. If per order cost is
Z 40, irrespective of the order size, holding cost is 10%
of the average rupee inventory and the cost per unit is
2100, find Economic Order Quantity (EOQ) using
calculus. Also find annual saving by switching to EOQ

system. (6)
OR

The Demand and Total Cost function of a monopolist
are p = 20 — 4x and C = 4x + 2 respectively. If the
Government imposes tax @ 20% of sales, determine

the total tax revenue that the government will be able

(6)

to collect.

P.T-O.



14
3079
nctions for two commodities X, and x, in

(b) The demand fu
are given by

terms of their respective prices P, and p,

- b,p+Ca .
. __p_a1 eb‘pz+t‘.] and xl :pz 2 e 2P Fea Where al, a-.z, bl’ b2
TR o |

and ¢, C, ar¢ constants.

(i) Determine the conditions so that the commodities

are (a) competitive (b) complimentary.

(ii) Show that the ‘direct’ partial price elasticities
of demand are independent of the prices,
while the ‘cross’ price partial elasticities of
demand are dependent upon price of one of the
commodities. (6) !!

OR .i

|
A producer desires to maximize output (Q) His

production function is given by Q = LK where L and K.
are labour and capital respectively. His cost function 18
given by C = 4L + 10K. Using Lagrange multiplier
method, find the optimum combination of inputs if the
cost constraint is Z 200. (6)

(c) Find the Consumers’ Surplus and Producers’ Surplus
under pure competition for demand function

d

8
= 1
Pl ~2 and supply function P’ =5(x +3), where P

is price and x is quantity. ©

3079 15

OR

After an advertisement campaign, the rate of sales of

a product is given by S(t)=1000e™*" where t is the

time in months. Find :
(i) Total Cumulative sales after 2 months;
(i) Sales during the 3*¢ month; and

(iii) Total sales as a result of the campaign.  (6)

(=) wtﬁﬁ@_rwwmmaﬁmoozﬁﬁ%sm
1 e s 2 AR W e W 40% 2, W
a@waﬂmaﬁéﬁa,waﬂm%ww@'
2 10% ? 3k wR afie @ 100% 2 @ e w1 N
@ st srw wen (BOQ) ¥ @hifwig | &4 & EOQ
qUTe T WA weeh e sad St A Siore |

a&dar

wE UHEIUEW &1 A SR /A AN BT HAE:
p=20—4x&ﬁTC=4x+2§'lﬂﬁWﬁﬁ?ﬁW20%
2w A F N 2 A WEHR FH fwIH F W FTHET
X gl |

P.T.O.
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(@) & TR X,

& fg M we X, =p, et 3 X, =p, " """ g
T 2 ® R a, 3, b, b, 3R ¢, c, femw )

aﬂ'{xza}mﬁﬂﬁﬁﬂﬁplaﬂ(pz

(i) a1 o e ofF s e (%) wfedt (@)
T B W

(i) weffie e fF A N v’ il wE W
ol ¥ waA B B olefeh W S W e
i AR TEa ¥ ¥ uw o dem W PR A
F) ' |

Jran

T IEE FT e B s (Q) HE =Ed
T I et T W B 2 Q- LK fored L A
K e Wﬁ?ﬁ%lmmwsﬂﬂmﬁ
B C=4L+ 10K A 1 witer aores Fafer o e e P
T T W T ARG AR w200 2

(W)Wmﬁam'waﬂiﬁﬂ,ﬁﬁ

pd
x+1

2 IR ws e p=—-(x+3}%ﬁ“¥g

W S e i e p e AT K T

3079 17

=Aqar

v s s @ W Jae @ G w39l I
T S(t) = 1000 &5 fored ¢ W & wER A | T FM :

(i) == @ et 2 718 9=
(i) o X D K B R

(i) =@ @ F oRom ey w5 @

Y
4. (a) Suppose a firm has a production function x = [aL“l - bK“]’z

where 0<a<1, 0<b<l. L and K are labour and capital
respectively. Find the marginal product of labour
and marginal product of capital and verify Euler’s

(6)

theorem.
OR

A discriminating monopolist can separate his consumers

into 2 distinct markets with the fellowing demand
functions:

Market 1: Q, = 16~ 0.2P,
Market 2 : Q, = 180 — 2P,
Assume that the monopolists’ total cost function takes

the form TC-20Q-20=0, where Q is the total output.
P.T.O.
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Obtain the total profit function and determine the priceg
he would charge in the two markets to maximise the
profit. What is the total profit ? Do you agree that the
price charged in the market with a higher elasticity of
demand would be higher ? Show by calculas. (6)

(b) At t=0, the annual world use of natural gas was 50
trillion cubic feet which is increasing at the rate of 10%

continuously.

(i) Find the total consumption of first 10 years.

(i) How long will it take to use all available gas if

in the beginning it was known that world reserves

of gas were 2200 trillion cubic feet. (6)
OR
The elasticity of cost is gi _ 5% pind .
is given by €, 2(5X+9).

the total cost function given that the fixed cost is T 18.

(6)
(F) " A B v w5 e o x:[aL‘“rbI‘f]}/2
? W 0<a<l, 0<b<l, L 3k K werar %{ﬂaﬁfﬁ’ﬁ%'aﬂ
%Mmﬁﬁﬁ%%waﬁﬁﬁwﬁ
Wmﬁmﬁﬁm

3079
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3Tdar

Te Ao THITUER F ITHErs A gow Ao &
frAfafa A1 werl @ WY JUF F FHA

@R 1: Q, = 16-0.2P,

WZ:Q2=180—2P2

A e & e @ da ana TC-20Q-20=0
T €7 & A B Wel Q el IS & | A A Berd Hed~
Hfe R T T FET F F T A e #

St < @F N FuiRa i | He T 1 8 ? T S
e & i Soaew W0 S A SO ¥ o S et SR

J=7 BN 7 Semed g Welid IO |

tzoaﬁwu@ﬁﬁﬂamﬁﬁﬁmﬁmm 50 feferas
o we @ W B W 10% ¥ R ¥ 9 @R

(i) WO <9 99 & el @I9 T I |

(ii) T IR WG F VAN F qeh FonT e IR A
e qar ot T fama % da Red 2200 Gfew o7 %2
21

N g 5 K
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B (¢c) A machine depreciates at the rate of 10% per ann
e , i -
auE & A g8 W ERll ¢ 2(5x+9) gfe G for the first two years and then 7% per annum for the
next three years, depreciation being calculated on the
O 18% € W WA N WeH T HIT | diminishing value basis. If the value of the machine is
¥ 10,000 initially, find the average rate of depreciation
5. (a) A moneylender charges interest at the rate of five pajge and the depreciated value of the machine at the end of
per rupee per month, payable in advance. What effective fifth year. (5)
rate of interest does he charge per annum ? (5) ' OR
OR A debt of ¥ 5,000 with interest at 5% compounded semi-
annually is to be amortized by equal semi-annual
If the present value and amount of an ordinary annuity payments of ¥R, over the next 3 years, the first due in
of T 1 per annum for n years are ¥ 8.1109 and T 12.0061 6 months.
respectively, find the rate of interest and the value of . (i) Find the value of each installment;

n without consulting the compound interest table. (5) ;. _
| (i) The interest content of the 5" installment; and

(b) A house is sold for Z 50,000 down and 10 semi-annual | (i) The principal balance remained after 4"
payments of ¥ 5,000 each, the first due 3 years hence. installment. (5)
Find the cash price of the holuse if money is worth 20% (%) v e 5 ¥ SR T R W R S e T |
per annum compounded semi-annually. (5)

R YaE 3 AT 2 | 7@ R wd W & = vl 9 S
OR 27
A person borrows % 12000. He pays 4000 at the end e
o.f 6 months and 5000 at the end of one year. What AR T wea SR AR A % ufyr 1% v 9§ n a9
final payment shoylq be made at the eqd of 2 years © & fore e 8.1109 3R 12.0061 T 2 q o W R AR
settle the debt if interest rate is 12% compounded n w1 T, ﬂﬁﬁ? = et & TR 3@, 79 FT |

continuously. (5)
P.T.O.
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(@) T& wEE 50,000 T T F@ S 5000 T A 10
| afafie semfE @ v X dn T @ e e g 9
3 af o wEn ? | AW N AHS hEe A9 RO AN T
= T 20% v a2 o w s w1 ¥ Twgfe =
o 31
AT

v AR 12000 F FO 41 2 | I8 6 AE N G
R 4000% U 9§ & AT W 5000% T <M OB | & a9
T B W S e W S R Al SO @
fuer & e aft wwrafe o ® wEE T A 12% ®

(1) v T W W A W A 10% W AW W A e
2 R R G e A ¥ 7% o 9w R, v
AEE i IReboH EUEAH 69 JUR R fvar s = 1 3l
[T H T IR A 10,0006.%%%@%3’(
SR dee af A FT W AR w9

Jrrar
5000% = W, 5@ W it &« 5% wwdfe =

%maﬁm%,Rna%meﬁﬁfmwﬁBﬁ
A RN T F W v gy 6 WE ¥ T/ N

(i) uﬁm%&rmg\wmaﬁﬁm.
(i) W&t e ¥ s 9w
(ii) iﬂ%ﬂ%ﬁ‘%mwwﬁwﬁﬂm%

(8200)
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SECTION A
1. (a) Discuss in brief the following:-

(i) Renting of immovable property as one of the
declared service

(ii) Taxable territory and its significance
(iii) Auxiliary Educational Services and its Taxability.
(iv) Relevance of place of provision on services. (8)

(b) What do you mean by “Basis of charge”? Explain its
relevance with reference to taxability. 7

OR

1. (a) During the year ending March 31, 2016, XYZ & Co,”

was running the business of providing services relating
to agricultural operations. During the year it has received
the following amounts:-

(a) Supply of Farm labour Rs. 5,00,000/-

(b) Carrying out of operations of harvesting Rs.
20,00,000/-

(c) Renting of Space for storage of potato chips Rs.
5,00,000/-

(d) Training for marketing of foods items Rs. 5,00,000/-

566 3

(e) Letting out ground for exhibition of agricultural
equipments Rs. 3,00,000/-

(f) Providing training for application of scientific
research and knowledge to agriculture practices
Rs. 1,00,000

(g) Transportation of Agriculture products to mandi
Rs. 1,00,000

Determine the service tax liability for the quater and
indicate the date by which servies tax has to be remitted

by the assessee. (7

(b) Discuss the meaning of “Negative List” and name any

six items. (2+6)
HET &

1 (=) FelRes & @g § w8y & 9= Fifkn-

(i) W A & W A IO quiy W e w I
(ii) = A & TF TEE AE|
(iii) weTEs Aferw VAR T TS H- 9T
(iv) JAH W WEAT W it A
(@) “U¥R H HWER” A U F EHES 37 F- [ D Hael
¥ TEH AT Ffogl
‘ Jreran

(%) 31 W, 2016 W FF B I 7§ F WA, XYZ & Co,,
iy T A WA A WA D D A GO H

f Ig o B R Ia Fefalias alEt e @ #-
P.TiO:



(%) =R sf=w N JE 5,00,000/- %
(m) w9 aRRERE =1 F T 20,00,000/ - %)

(@) 7@ = F=m 3 s 3 fom = faw w4
5,00,000/ - %

(%) =@ 7=A = e & By ufee 5,00,000/- %

() = 3m=on = w2 B o e ow 3
300,000/~ W)

(%) = vt 39 dmFer v o A B oA 3 Ry
WA I w5 1,00,000 .|

wﬁqﬁ%ﬁq%mm%wﬁa?ﬁaaﬁﬁq’ﬁ?ﬂ-ﬁaﬁﬁﬁf

(=) “Wﬁ”%aﬁmﬁa&&mqﬁaﬁ%mm
ERiEd)

SECTION-B

{a) Tech i
nology Ltd. is providing technology software

servi ;

billsl C::E:' The firm gives the details of services rendered,

e th:?ed’ a‘mount received pertaining to the service
Inancial year ending 31st March, 2017 as undet:

(i) Am i i
) > c:.;nt Teceived being 20% of the assignment fees
st March, 2017 for the up gradation and

566 2

enhancement of software services to be rendered
during the financial year 2017-18 Rs. 6,00,000/-

(i) Services provided to UNO, an international
organization in Delhi for designing and programming
of latest information technology software- Rs.
2,50,000/-

(iii) Services provided to RBI for development of
customized software - Rs. 10,00,000/-

(iv) Amount for services rendered during the financial
year 2016-17 to be received on 31st December

2017 Rs. 7,00,000/-

(v) Amount received from customers who have
downloaded the companies standard software from
their website Rs. 5,00,000/- (7)

(b) Find out services tax liability of X (annual turnover is
more than Rs. 2 crore since 1999) for the quarter ending
March 17,2016 from the information given below:

(i) X has a business establishment in Delhj.
(ii) He provides fashion designing servies.

(iii) During the quarter ending March 31, 2017 service
is provided to the following persons-

P.T.O,
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Name of Location of | Date of m
the service | service invoice (Rs.)
recipient recipient
A Ltd. Varanasi October 10,2016 48,75,000
B Ltd. Jammu November 15,2016 12,00,000
C Ltd. Singapore November 25, 2016 68,00,000
D Ltd. Mumbai December 1, 2016 1,55,000

2.

These services are provided from New Delhi. All designs,
drawings, art works, etc. are sent from Delhi to service
recipients. The quantum of service tax is in addition to
amount given above. A Ltd. gave an advance of Rs.
10,00,000 on September 30,2016 against the invoice dated
October 10,2016. The cheque was deposited on the same.
date. However, it is credited in the bank account of X on
October 6,2016. B Ltd. C Ltd. have not given any advance.
The amount outstanding on December 31,2016 is Rs.
14,00,000 (A Ltd. : Rs. 2,00,000, C Ltd. : Rs. 12,00,000)-
Find out the service tax liability of X for the quarter ending
December 31,2016. All figures (except advance of I:;)

10,00,000) are exclusive of service tax.

OR

. g wo
(a) What is reverse charge mechanism? Explain any t

4
Cases covered by it, g

566 7

(b) Explain the provisions for registration under Service tax
Act (7)

AR -

(m)éﬁm@ﬁﬁﬁ@mﬁ,ﬁﬁﬁﬁa‘hﬁﬁmm
& 21 7z T 31 9, 2017 @ @A B A faeg 9 @
frg, yerr @t $ e, wegw fRv e R, Far & @y
¥ wra oWl @ e FrEfiRed WeR A WeH w8

(i) wogeee Teh & 20 Ufow WNT & w9 A 31 A, 2017
W e af 2017-18 & T AR FASH D
I U Ha@d @ folg WeH Wl WM et Wi
YA St AT 6,00,000/ - T

(i) = gE M Wredaw @ sifeeas v
s 3 Red Rew sty weT agaat B
WS I ME ¥ - 2,50,000/ - W

(iii) SEEHTIER FffT WA = fem v @ e
Ild Rod S & wam &t T A9 - 10,00,000/ -
EX

(iv) Toxim o 2016-17 & R waw Jamey ¥g 31 Rww
2017 & W &t W Gl uhr 7,00,000/ - %I

(v) @& st ¥ o= I R w9 JTEEE /A
mﬁ%wﬁwﬁmﬁmﬁ%m%s,aomo/—

w1
P.T:0.
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() A & T THEQ @ MR W 17 AW, 2017 T T By
T Rl @ fog O T @ ¥ W AT T A
(e e foaht @ 1999 & 2 W ¥ I ).

@ fofics = ARt off war Y ol ofdr =8 &1 21 31 e,
2016 <t SEAT T 14,00,000 T 2 (F ffs: 2,00,000
T, T ffide: 12,00,000 ®)1 31, REwR 2016 =t T B
50 M O e e o
aw (10,00,000 TR it A VA Ft BigTFR) THAA T
(i) = wew Rewfin ¥Ja9 W st 21 R B B |

(i) T F= W IR geE Ret ¥ fum 2

(i) 31 M 207 N T A TR B D Kw | il

O | Y et | gEEa o oftr = & srested e T fF @ e A e wiw
Wl AN =T ?ﬂﬂ?ﬂ'
= (@) a1 = ST & ST Tl & gy # s
* ffs TROTER FEFTE 10,2016 48,75,000 T ) A
w fofis L TERR 15,2016 12,00,000 T

3. (a) Rahul Dev provides services as travel agent for Airlines.

T fafids iR TR 25, 2016 68,00,000 T For the quarter ending March 31,2016, he gives the
following information-

w fifs Had Reww 1, 2016 155,000 ® |

Air fare collected from recipients of service 28,00,000/-

¥ M T RN Aoy oW & owh Rore, T

] Commission charged 2,00,000/-
FAGRA TR Ret & v wEwA @ A o 21 AT
W U TR S T B aRRET T F RS ¥ 30 Interest recovered for late payment
R 2016 B R 10 FFR, 2016 H IHTAK 10,00,000 of dues by customers 10,000/-
< iy i - e, T
R Bl WS T A Charges for deliver of tickets 2,500

W%%wﬁﬁsw,zmbﬂﬁ'%ﬁfwm%l P.T.O.
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Find out the servide tax liability for the quarter ending
March, 31, 2017. Rahul Dev is not a small service
provider. He had not charged any service tax in his
bills. Is he liable for service tax? (7)

(b) What is meant by “Abatement”? Discuss any six

abatements. (®)
OR

3. (a) M/s Nitin & Associates,'a firm of Chartered Accounts,
raised an invoice for Rs. 1,14,000 (Rs. 1,00,000 + Service
tax of Rs. 14,000 @ 14%) for services rendered on
Olst November, 2016. The client paid lump sum of Rs.
1,05,000 on 1st January, 2017 in full and final settlement:

(i) How much service tax M/s. Nitin & Associates
have to pay and what is the due date for payment
of service tax?

(ii) What will be the liability if the client refuses to
pay service tax and pays only Rs. 1,00,000? @)

(b) Discuss the following in Brief:-
() Point of Taxation.
(i) Rate of Service Tax.

(iii) Date of Payment of Service Tax.

3

566 11

(iv) Return of filing of return of service tax. (8)

(F) TG I ¢ Toic B T A TICIZE B g FAT W HE
21 31 AW 2016 W @@ B g e B g, 9w
Prefeferm s 3 2 -

A WrAEAA @ TEHA R e R 28,00,000/ -
TIRT e 2,00,000/ -
I ¥ I A B s A faaar g

e v T = 10,000 / -

R&c S99 3g ™R 2,500/ -

31 91, 2017 H GA B el [AAET @ g FaT FC AT
T Q1 TEA a9 BIeT JAT Yem T8 81 IaT s ey
¥ FE F Jar X WIRT A& B am @ 9w FAM WS
fore Sowerdt 27

(@) “Sow=” & I @ B 27 R o JumEr w st
wHifSTgr

=rar

(F) & dEreit v T A PR v whieed w1 e
2016 ¥ werT &t WS 9t & e 14,000 T (1,00000 %

P.T.0.
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+ 14,000 & A& W 14 g & & W) W ZHARE I
| TEF T 1 T, 2017 B T AR A Foew ® w1

¥ T 1,05,000 T W A T

(i) d BRe Uz vafiveg @t e ¥ W qEe
T BT T A W D e w0 e R
27

(i) af wew JA F F FAH FH ¥ T F <l B
T§ 96 1,00000 € - SFEE AT T A ST R
BN ?

(@) Feafafes w 98w ¥ ==t i -
(i) =ua= =1 9=
(i) = W w
(i) Fw = e & Rl
(v) ¥ a & Tl ot Ty W A

SECTION - C

4. i .
(2) Ms. Disha, a dealer submits the following information:

Import of raw materials

(including 10% import duty) 1,10,000/-

566 13

Raw materials purchased from Rs. 2,24,000/-
Delhi (including 12% excise duty)

VAT@4% on above purchase

Raw material purchased from Rs. 85,000/-
Mumbai (including CST)

Transportation & Manufacturing Rs. 27,000/-

expenses

Disha sold the entite stock at a profit of 10% on cost
of production. VAT on such sales@4% Compute the
net VAT liability (7)

(b) Write a note on anti-dumping duty and countervailing
duty. | (8)

OR

4. (a) What is composition scheme under VAT. What are its

merits and demerits. ' (4+4)

(b) What is input tax credit? Explain the relevant provisions
under VAT. @)

P.T.O.



566 14
HART — {1
o (%) Y R, v A PR SEEQ TR W 2

Fo AW FEE (10 gioEd
JOE Lo Hied) 1,10,000/ - %

=t ¥ @l @ wed w
(12 witww I gew W) ‘ 2,24,000/ - ¥

I WK W 4 T A ® ¥ wEafad o
g ¥ | T e (g v Jq W uR") 85,000/ - ®
TRagw v fafwion =g 27,000/ - ®

R ¥ vt wiw ST @ anm w 10 e ® @ ®
g = R = TR B REE W 4 TR A R
AT W D FER Fraw Y Jaar W qReed Hioe

(@) viv-wew gew vd wiwed gew W R
I=Aar

4. (%) T A W R siqte wooe A ST 27 3699 9 A
FEU Y B?

566 15

(@) T aw wie = 37 W afda W B I R
WEUH W, S N

Explain the following terms in excise laws:-

(i) Compounded Levy Scheme

(ii)) Manufacture and deemed manufacture

(iii) Goods _' (5x3=15)
OR

Explain the following terms in excise laws:-

(i) CENVAT cre&it

(ii) Job work

(iii) Tariff value : (5x3=15)
SHE ge w ¥ elifae o o amen S -

(i) 7T IgEw e (TR AR )

(i) fafwfor va mit AR

(i) g

P.T.0.
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(i) WaT WiT
| (i) <& ==

(iil) wgeR T
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(h)

(2) 57

What are the provisions for issue of shares at 4

premiwm 7 Explain, 5

A Limited issued a prospectus inviting application for
100,000 shares of T 10 each at a premium of ¥ | per share

payable as follows :
On application ;K3

On : o i i
n allotment : ¥ 4 (including premium)

On first call s &0
On second and final cal . %2

Applications were received for 1,40,000 shares and pro
rata allotment was made on the application for 1,20,000

shares, ! 7 :
- Money overpaid on application was employed on

account of sum due on allotment,

Peter, to whom 500 shares were allotted, failed to pay the
allotment money and on his subsequent failures to pay
the first call his shares were forfeited. Ronie, the holder
of 800 shares, fajled to pay the two calls, his shares were

forfeit,
ited after second ca|. Out of forfeited shares, 1,000

(F)

(1) 567

shares were sold to Alex as fully paid up for ¥ 9 per share,
the whole of Ronie’s shares were being included. Show

journal entries and the Balance Sheet. 10

fad @ difram w9 A & fau 7

geyE & 2 TR FINT

(@)

X Lid. 3 7 1 9fg srgx & wiffes w2 7 10 9fa 9=
& 1,00,000 97 & ferw smAET HiTA gL TF fFE
ufyer S w1 I 3 YRR 9

#EET ™ iR
& W . 2 4 (Vifem wfea)
g9 AT W ;€2

Tl R sifm Wi W72

140,000 7RI & fer@ amde™ wra gw @ik 1.20.000

Y # €T W A9 HEeT R T

SIferga TRT &1 e W e T &H & F07

frafse e =

P.T.O.



The balance sheet of 4 company as at 31-

X4 567
e, fr 500 IR sTeifea forg T 9, s Ty
qﬁ&mﬁtumnﬁmwﬁwﬁﬁ
FFHEAS W IR IR T AT ma goq
Wl OURE WA TSl D AN W oym @
I SR GEY AT R AR IR SR e
X fae T s feu T el ¥ @ 1,000 SR
T F P TET 2 o uf SR AW Tu) T

%wﬂwwﬁa%aﬁauﬁ@ﬁﬁnm
feamu)

Or
(3reram)

3-2014 was as

follows -

Liabilities -

9,000 equity shares of ¥ 50 each

4,50,000
8% Preference shares of ¥ 100 each 1,30,000
Profit angd Loss A/c
96,000
Creditors
1
Total i

7,89,000

(5) 567
Assets :
Other assets 6,90,000
Investments 37,000
Bank 62,000
Total W

The preference shares were due for redemption on 1-4-2014 at
a premium of 7%%. In order to facilitate the redemption of

preference shares, the company decided :
(a) to sell investments for ¥ 32,000;

(b)  to finance part of the redemption from company’s funds,

subject to leaving a balance of ¥ 24,000 in the Profit and

Loss Account, and

(c)  to issue sufficient number of equity shares of ¥ 50 each

at a premium of T 13 per share to raise the balance of

funds required.

Pass journal entries to record the above transactions and

prepare balance sheet as per Revised Schedule V] after redemption

of preference shares. 15

P.T.O.
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567

31-3-2014 Y T HIA F G-I T TER 4

2 50 fd YRR H 9,000 IR

z 100 9 W & 3% AWM IR
o9-=I T

TR

T

ufeufaat

9 afeataat

frar

EED

A

4,50,000

1,350,000

6,90,000
37,000

62,000

7,89,000

AEH IR 1-4-2014 7%4% WifHTq W Ao & fog 27
%afﬂnmﬂaﬁ%ﬁmaﬁgﬁwaﬂﬁﬁﬁq

“’“ﬁ?‘ﬁ?m%mﬁ:
(ﬁ)ﬁaﬁﬁuz,o{mﬁa-qa’

(7) 567
(@) m-gf S # 2 24,000 FT I T@Q FC AT B
Wﬁmaﬂaﬁﬁﬁﬁﬁ:ﬁﬁ?ﬂmﬂmm,
R
(1) efea 9 fafa & fom 7 13 wfa SRR & Wi
W 7 50 & TAE wew A sfEd YR W Ry
S |
I Heaaerl 1 g 0 B forg s gfaftedl Sy
3R SfumE AEd & oe Gifa STHEER VI % STIER
AT FER SIS |

The balance sheet of Z Ltd. disclosed the following information

on 1-1-2013 :

4
13% Debenture A/c 7,00,000
Debenture Redemption Fund A/c 5,00,000

13% Debenture Redemption Fund Investment A/c 5,00,000

The annual contribution to the Debenture Redemption Fund was

¥ 70,000 for the years 2013 and 2014. The debentures were

BT,



(8) 567 ‘ (9) 567
redeemable on 31st December, 2014. On 31st December, 2014 Or

the investments were sold for ¥ 7,00,000 and the debentureg

(3rgan)

were redeemed.
The following is the Balance Sheet of S Ltd. as on 31st March,

Prepare Debenture Account, Debenture Redemption Fund

Account and Debenture Redemption Fund lnvestment. ;ﬂ\ccount o

for the years 2013 and 2014. 15 SRS

Z Lid. B 112013 B P e Fgﬂfﬂ'a _— 13% cum Preference shares of ¥ 100 each 1,00,900

ﬁi : | Equity shares of ¥ 10 each 7,00,000

z 8% Debentures 3.00,000

13% B9 oE 700,000 Current liabilities | 39,00,000
O qEE fafy 5,00,000 Provision for taxation 3,00,000
13% BUqy 1:'“3:{ Tty ﬁﬁ'ﬂ ‘(‘:'I'@T 500,000 Total m
a4 2013 3R 2014 H 'Fﬁq ®RUYT Heq 4y A CIEED Assets :
W %.70,000 AR 31 R, 2014 w1 HreArg 9 Fixed Assets 15.00.000
31%@,2014#%?7,00,000ﬁﬁ%m3$nﬂﬁ h
1 A = e o Current Assets 35,00,000
ot S Profit & Loss Alc 3,00,000

A 2014 & o How Sy gy A

fafe
St ) - e fifl fraw Sren 3R Total 53,00,000
it PTO
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The following scheme of reorganization is sanctioned :
(a) Fixed assets are to be written down by 331/3%.
(b))  Current assets are to be revalued at ¥ 27,00,000.

(c) Preference shareholders decide to forego their right to

arrears of dividend, which are in arrears for three years.

(@ The taxation liability of the company is settled at

T 4,00,000 and the same is paid immediately.

() One of the creditors of the company, to whom the
company owes ¥ 25,00,000, decides to forego 50% of his
claim. He is allotted 1,00,000 equity shares of ¥ 5 each

in part satisfaction of the balance of his claim.

1] The rate of interest on debentures is increased to I I%:-
The debentureholders surrender their debentures of
T 100 each and exchange the same for fresh debentures

of ¥ 75 each.

(8)  The existing equity and preference shares are reduced t0

¥ 5 and ¥ 75 each respectively.

Pass necessary Journal entries and show the new Balance Sheet

of the company. 15

(11) 567

S Ltd. T 31 HME, 2015 B AT 39 TFR T :

AT

13% TE A I, T 100 Ffd AR 1,00,000
z 10 9fg 9 & 3R IR 7,00,000
8% ST - 3,00,000
FqdHE 2gard 39,00,000
HIYE & 1%111 A 3,00,000
=i 53,0000
gfigufaar .
e afteafwat | 15,00,000
EERISERE 35,00,000
Y- o 3,00,000
Q.T'T 53.00,000

e W Frefafad deen T @ T

(&) feer ufREufa &1 331/3% Faceq fear 7|

P.T.O.
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%1 (13) 567
(@) 9] Wﬁzﬁ ® ¥ 27,00,000 m ﬁ‘TQ'I 3 (@ The following particulars are available in respect of the
™| business carried on by a trader :
(M) e Sl A fred 39 oo | o’w THI (1)  Profits earned for the years :
w® 9 AfuER B <7 w1 ol femm 2008-2009 = 50,000
() FT F T T B 2 400000 W T 202010~ 60.000
™ AR IE T PR W T 20102011 = 55,000
(¥) & = T&h TR 9{, 58 9 3 7 25,00,000 (2) Normal rate of return = 10%.
< o, T @ F 50% H D A1 R FHwA (3)  Average Capital Employed = ¥ 3,00,000.
W AN @ P e Gaem § oz 5wl IW (4)  Present value of an annuity of one rupee for 5 years
% 1,00,000 3FREY SR emefed few MU | at 10% = ¥ 3.78.
(&) =U9s W S =X 11% T _ﬁ "T§l Wm (5)  The profits included non-recurring profits on an
32 100 9 BT 3 st o - s "average basis of T 3,000.
¥ 775 9y FU § T oS & You are required to calculate the value of goodwill :
(®) AR s sin s el = w25 3R (/)  As per five years purchase of superprofits;
775 T E?TI I (ify  As per capitalisation of superprofit; and
e sia wisfeesr L i (iif) As per Annuity Method. 10

TR Fifs | P.T.O.
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(14) 7 (15) 567

(b)) Calculate the value of one equity share from the following 2 TfEd T T @ = 10%.

information : ¢ Frifm s 11?}]"} - 7 3.00.000.
() 60,000 equity shares of ¥ 10 each, T 7 paid-up; | . @ 10% T -5 o B foru e Uy 1 arftiant 1
(i) ¥ 2,00,000, 10% preference shares of I 100 | FAHA oA = ¥ 3.78.

each, fully paid; : G) Y H G F YR W AEA T 3,000 FI
(iify  Expected annual profits before tax ¥ 4,00,000: o A ¥

AR TefEad H oo TRefad F ¥

() Tax rate 35%;

() e & gfw g€ # TT F AR

(v)  Transfer to General Reserve 20% of profits every

year; | (i) HAYUETY & YU B YN W, FR
(vi)  Normal rate of return 20%. 5 i) THHT FOICA F TR |
(F) T =M & sRER & s T fsfafes <0 (@) frfafed g1 8 uw sfFeet SR =1 o9 uiefoa
ST ¥ : wI, :
& s () %10 9fd T F 60,000 IR SRR, 7 7 2T

(i) 9O W&W % 100 TR SR F 7 2,00,000, 10%
3'7!'&11:!1?[ ‘3[?1'{:

T 2008-2009 F = 7 50,000

T4 2009-2010 F = 7 60,000
i) FX Td g Al AT 2 4.00.000:

9 2010-2011 H = 55,000 il



(16) 367
(v) F T 35%;
v T s TN R 20% W ARG H
aaf; |
(vi) Wiah@ T FHA T 20% |
Or
(3teram)

The authorised capital of Narendra Limited is ¥ 5,00,000
consisting of 2,000 6% preference shares of ¥ 100 each and 30,000

equity shares of ¥ 10 each. The following was the Trial Balance

of Narendra Limited as on 31-3-2011 :

Trial Balance as on 31-3-2011

Particulars Dr. r
Investment in shares at cost 50,000
Purchases ' 4.90,500
Selling expenses 79,100
Stock on 1-4-2010 1,45,200

Salaries and Wages 52,000

(17)

Cash on hand

Interim preference dividend for the

half-year to 30-9-2010
Discount on issue of debentures
Preliminary expénses
Bills receivable
Interest on Bank Overdraft
Interest on Debentures up to 30-9-2010
Sundry Debtors and Creditors
Freehold property at cost

Furniture at cost less depreciation of

¥ 15,000
6% Preference share capital
Equity share capital fully paid-up

5% Mortgagee Debentures secured on

freehold properties

567

12,000

6,000

2,000

1,000

41,500

7,800

3,750

50,100 87.850

3,50,000

35,000

2,00,000

2,00,000

1,50.000

P.T.0.
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Income-tax paid in advance for 2010-2011 10,000

Dividends 4250
Profit and Loss A/c (1-4-2010) 28.500
Sales (Net) 6,70,350

Bank overdraft secured by Hypothecation

of stock and receivable 1,50,000

Technical know-how fees at cost paid

during the year 1.50.000

Audit fees 5.000

14,90,950 14.90,950

You are required to prepare the Profit and Loss Account for

the year ended 3 1-3-2011 and the Balance Sheet as on that date

- after taking into account the following :

(a) Closing stock was valued at ¥ 1,42,500.

(6)  Purchases include 7 3,000 worth of goods and articles

distributed among valued customers.

(c)

(d)

(e)

&

()

@

()

(19) 567

Salaries and wages include ¥ 2,000 being wages incurred

for installation of electrical fittings which were recorded

under ‘Furniture’.

Bills receivable include ¥ 1,500 being dishonoured bills;

50% of which had been considered irrecoverable.

Bills receivable of T 2,010 maturing after 31-3-2011 were

discounted.

Depreciation on furniture to be charged at 10% on written

down value.

T 1,000 on discount on issue of debentures to be

written off,

Interest on debentures for the half-year ending on

31-3-2011 was due on that date.
Provide provision for taxation ¥ 4.000.

Technical know-how fees is to be written off over a
period of 10 years. ¥ 500 of preliminary expenses to be

written off.

P.T.O.



(20) 567
(k)  Salaries and wages include ¥ 10,000 being the Director’s

remuneration.

()  Sundry debtors include ¥ 6,000 debts due for more than

six months.

Prepare the financial statements of Narendra Limited as per
Revised Schedule VI. Figures for the previous year can be

ignored. 15

T3 fa. =1 wftga 5 2 5,00,000 ¥ fFEH 2,000, 6%
SAUEE IR 2 100 9T TR iR 2 10 WA SR 3,000

Tl SR e ®131-3-2011 T T T 5 1 Sw-udiew
TH TFER 91

31-3-2011 SRT 9IS T{teyoT

= qw S
o W IEd o faw 50,000

=i 4,90,500

it = 79,100

1-4-2010 1 =fF

1,45.200

(21)
a3 TR

7Y UHS

MY 9 ¥ 30-9-2010 TH SFARHA

AfAM T
FOTE & TH W S
yRfw =3
e feaet
dh SEGHRE W AN
30-9-2010 T SEUTYSH T =S
fafey MR SR AR
T W Ui
AT W HAEE T 15,000 H

Hoag e HAl
6% FfemM TE g

et 9 g, T e

567

52,000

12,000

6,000

2,000

41,500

7,800

3,750

50,100 87.850

3,50,000

2,00.000

2,00.000

P10
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- ' (23) 567
Wmmgﬁ% (@)@ﬂ?ﬁmﬁﬁmﬁﬁﬂﬁﬁzs,ooowaﬁ
595 ST T 150,000 e Y
L 5 Tk S WY B G0 (ny A e g # ol % ffir T W T
GBI 4’250? 7 2,000 T HIGH W §1 T FAR A
TN-RI T (1-4-2010) 28,500 | R

() W faedl # 7 1,500 F FHR MY fAA wfe €
ot () 6,70350 . .
i ¥ s0% ® FETEA A fam T R

wF M o™= W e @ '
(T) 31-3-2011 & &€ 99 2 2,010 % 9= faedi =i

S S sl 150000
| serpa fear |
T F WA A |
- (F) AR W Heded Fafdred 7ed & 10% 9T FHIiE
ot S AR 1.50,000 fepr ST
SRCIRE |
s KR (®) HOGA & FH W 922 F T 1,000 F qer@T
1490950 14,90950 o smam
o
aiqﬂﬁngzollﬁmaﬁ—%qu@ﬁﬁ@ (F) 31-3-2011 ! FAMG B areft TAE $ fog o
ﬁr{ﬁ%ﬁ‘ﬁ@mﬁr@ﬁ@wmﬁ'@ﬁ' R =N SH aRRg F 2T e
IS Ty % . |

(F) A & AT T 4,000 grEEE F: |

(%) sifemg |
T BT 2 142,500 @ | | ne



(24) 567

(F) TR AR YEE, 10 T8 b A Aufefem

fapan ST@ ) 2 500 WRIWE @Ei | sufafed frg
|

() @ IR "egd | fReE @ 2 10,000 TS
i ¥

(3) fafaw T & ¢ WER A 3fusws =T 7 6,000 HI
TR Wi ®)

A SR VI & SER WX fa. #1 fasig foeo

TR Fit | qd o & RS H A& F oW gHA
T

H Ltd. acquired 2,000 equity shares of ¥ 100 each in S Ltd. on
31st March, 2013. The summarised Balance Sheets of the two
companies as on 31st March, 2014 were as follows :

Liabilities : H Ltd S Ltd

Equity shares of ¥ 100 each 8,00,000 2,50,000

Reserves 3.00.000
00, 50,000

Profit and Loss A/c 1,00,000 1,00,000

Creditors 200
,00,000 50,000

Total
14,00,000  4,50,000

(25) 567
Assets : . H Ltd. S Ltd.
Fixed Assets 7,00,000  2,50,000
Current Assets 400,000 200,000
2,000 shares in S Ltd. at cost 3.00,000
Total 14,00,000 4.50.000

S Ltd. had a credit balance of ¥ 50,000 in the Reserve and
Z 20.000 in the Profit and Loss Account when H Ltd. acquired

shares in S Ltd.

S Ltd. issued bonus shares in the ratio of one for every five
shares held out of the profits earned during 2013-2014. This is
not shown in the above Balance Sheet of S Ltd. Prepare a
consolidated Balance Sheet of H Ltd. and its subsidiary on 31st

March, 2014 giving all necessary workings. 15

H Ltd. X 31 @, 2013 Hs. Lid. A 100 gfq T & 2,000
Wﬁmmﬁmﬁaﬁﬁﬁmm ard, 2014

P.T.O.
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1 89T qEA-TF T YER ¥
T HLtd. S Ltd.

z 100 99 I & TREE IR 8,00.000 2,50,000

SRR 300,000 50,000

- 100,000 1,00,000
TER 200,000 50,000
am 14,00,000  4,50,000
uftHufET HLW, S L.
feor aftmafimt 7,00,000  2,50,000
=], afEt

4,00,000  2,00,000

S. Lud. | & W 2,000 SR 3,00,000

=

14,00,000  4,50,000

ST emiea i 8 7 50,000 i ey o

z
20,000 F1 S I @1, wq Ltd. ¥ S Ld § 998 9T
[Ea O

(27)

567

S Ltd. 7 2013-14 & IRE 1l ot / wife v iy

P F T TF U WA SR SR e
T S Ltd. & STH qo-u9 | 76l e T ¥ @
srafer foRarfafer 4 g H Lid. 3R SHHt Weraw FTH
H 3] HHE, 2014waﬁf§mgaq—vﬂéﬂﬂﬁﬁm

Or

(3rg=m)

(@)  Distinguish between amalgamation in the nature of merger

and nature of purchase.

5

(k)  The following are the balance sheets of Kay Ltd. and Jay

Ltd. as on 30th September, 2014 :

Liabilities : Kay Ltd.
Equity shares of ¥ 10 each 4,00,000
General Reserve 5,00,000

Profit and Loss A/lc 3,00,000

Jay Ltd.

1,80,000

1,00,000

80,000

P.T.O.
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(@) Kay Ltd. 3R Jay Ltd. % 30 faeR, 2014 & ToH-95
frafafaa € -

aﬂﬂl l'j : Kay Ltd.  Jay Ltd.

7 10 9fd IR & sfEEl TR 400000 1,580,000

(28) 567
Debentures 3,50,000 ‘_
Creditors 200,000 1,00,000
Bills Payable 50,000 40,000
Total 18,00,000 5,00,000
Assets :
Fixed Assets 7,00,000 3,00,000
Current Assets 6.00,000 2,00,000
Investments 500,000 -
Total

18,00,000 5,00,000

The Board of Directors of Kay Ltd. approved to takeover

Jay L
y Ltd. as on 30th September, 2014. Find out the
ratio of exchange of shares on

the basis of the book
values,

10

(m)ﬁw%mﬁmmwﬁm

Mg sIRfEfd 500000 100,000
Y-TE e 3,00,000 80,000
e 3,50,000 .
THER 200000  1,00,000
g faa 50,000 40,000
= 18,00,000 500,000
gftgataar :

feorr wftwutaar 7,00000  3,00,000
=1, REfEl 600000  2.00,000
fraw 500,000 .
=T 1800000  5.00.000

P.T.O.
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Kay Lid. B FRYe ASd 9 30 faa=, 2014
Jay Lid. 1 SAfEETT N AR R ferm o
TérErE e & SHR W AR ot @ s
T ST
From the following details relating to the Accounts of GM Ltd.
prepare Cash Flows Statement as per AS 3 Revised :
Liabilities : 31-3-2012  31-3-2011

Equity shares of ¥ 10 each 10,00,000 8,00,000

General Reserve 2,00,000 1,50,000

Profit and Loss A/c

1,00,000 60,000
Debentureg 2.,00,000 -
Provision for taxationl 1,00,000 70,000
Proposed divideng 2,00.000 1,00,000

Sundry Creditg
s
700000 820000

20 00000
25.00,000 et

Assets :

Plant and Machinery

Land and Building

Investments

Sundry Debtors

Stock

Cash on hand/bank

Total

Additional Information :

(31) 567

700,000 5,00,000

6,00,000 4,00,000

1.00,000 —
5,00,000 7,00.000
4,00,000 2,00,000

2,00,000 2,00,000

25,00,000  20,00,000

(a)  Depreciation @ 25% was charged on the opening value

of Plant and Machinery.

(6)  During the year one old machine costing ¥ 50,000

(WDV 20,000) was sold for T 35.000.

(¢) T 50,000 was paid towards Income tax during the year.

(d)  Building under construction was not subject to any

depreciation.

15

P.T.O.
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567

oM L, & daned ¥ gafia Frfafed foamm @ 4
(uvifir) & SR RS- fE TR #if

g

210 9fq I & hREE I

Eite) o A 3

w-afa o

fafay ‘a‘ﬂ-ﬂ

31-3-2012 31-3-2011 |
10,00,000 8,00,000
2,00,000 1,50,000 i

|

1,00,000 60,000 |

|

2,00,000 b
1,00,000 70,000

200,000 1,00,000 |
700000 820,000

pm—

2500000  20,00,000 |
|

700000 500000 |
6,00,000  4,00,000
100,000 e
500000  7.00,000

Interest on Fixed

(33) 567
=% | 400000 200,000
79 #/9% H UFs 200000  2.00,000
ar 2500000 20,00,000

afafte ge -

(%) Ha7 IR AL & RAE g W @ 25% ToT8
A T

(@) ad & WH 7 50,000 TG HI TH UAT "
(3afefed g 20,000) T 35,000 H a6 TE

(M) ad B IRA MERT F WA T 50,000 FT FraA
T

(u) frfomes Yo R Joged & omEn W 9l
&
(rera)

From the following information, prepare the Profit & Loss Account

of ABC Bank Ltd., for the year ended on 31-3-2014 :

(Figure in *000)

Interest on loan 2,59.000 Interest on Current

Account 2.000

P.T.O.
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2

567

Deposits 275000 Interest on balances

Bad debts to be written off amounted to ¥ 40,000. Provision

Rebate on Bills dis- with RBI

50,000 ‘ for taxation may be made @ 35%. Transfer 20% to statutory
| reserves and 5% to revenue reserves. S
counted required 49000  Profit on sale of land, .
2w T G F MUR W 31-3-2014 F THG o
Commission 8200 building & other ‘
| % T ABC Bank Ltd. FT TNY-=I oi@n TR Fifow
Establishment 54,000 profit on exchange 5 o
(000 H 3H[FT).
Discount of bills ds- transaction 10,000 ‘ S -
N W AN 259,000 =] R £4
counted (net) 195000 Interest on RBI e -
3Tt SR 2 42,000
Interest on Cash borrowings 12,000 — S5 @
—— 223000 Interest on borrowings T faet W R -, —
Rent & T
e 18,000 from other banks 10,000 o 49000 9, waq = fagd
Interest on '
Overdrafts 15400 Employee salaries 20000 FHITH 8200 W Y AW 31
Directors fee |
R 3000 Interest on savings ARk 54,000 faf wommn
Auditorg fees . |
1,200 bank deposits 68,000 ! W foelt ™ T @Y 10.000
0
Postage & Telegrams b | Rl (3I13) 195000 RBI H IR W
|
900 |
Printing & Stationery 201 = BT IS 12,000

Sundry charges (Cr.)

1,700

P.T.O.
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W AN 223,000 s ¥ ER

P iR w0 800 W EES 10,000
FRER W ST 154000 FEAEEA F A 20000

fRvehl #1 o 3,600 aaaémwr
e TherR qF 1200 W A 68,000
SHF-TH 3N a1 13400
oo SR - 2900
fafay gur (5mm) 1,700

a@@ﬁgﬁmmwﬂﬁﬂ%%mm{)?ﬁl
mam@w%qus%m‘mammvmm%n
20% I STRFEfT & oM so worea sfafa & sfawor
s _.

567 36 1.000
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Note : —  Answers may be written either in English or in Hindi; but the same ‘medium should

be used throughout the paper. -
feooft :— g0 vt S st w R feed T o A weg wst s
& HEH TH E OB A6 |

Attempt All questions.

All questions carry equal marks.

it wA siferd ¥
ot gl & 3% gue ¥
1. (@) “Evolution of Cost Accounting is the outcome of deficiencies in Financial Accounting”,

Discuss the statement. 5

PTO.
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(@)

()

¢ 2) ' 568
Nidhi Industries gives you the following data pertaining to material X :
Supply period 4 to 8 months

Consumption rate :

Maximum 600 units per month
Minimum 100 units per month
Normal 300, units per month
Yearly 14,400 units

Storage costs are 50% of stock value. Ordering costs are Rs. 400 per order. Price
per unit of material is Rs. 64.

Compute :

(D  Economic Order Quantity
() Re-order level

() Minimum stock level

(IV) Maximum stock level

(V) Average stock level. 10

" TR FT AR (Evolution) RN S %1 st w5y qRom 71"
T 1 vl wifew

ﬁﬁ?mww;&mﬁaﬁﬁmﬁf@amﬁa@%;

g srafy 49 8 W
ST T
Ty | 600 3FTE WiT HE
rH . 100 31 ¥fd HE
A 30033?@1;%%_

CUEED | 14,400 THTS
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mmmr@mw%%uaﬁﬁﬁwmmmo*é ¥ wfd TR
T e ¥ T 64

Wﬁf&l’r{:

() onf¥fw R ufmm

(I g: R w®xw
(II) '?ﬁaw Y W

(IV) 3tfysran @y @R

V) e =y @

Or
(3reran)

(¢) Explain the concepts of “Cost Unit” and “Cost Centre” with the help of

examples.

5

(d) From the following information, work out the production hour rate of recovery of
overheads in Department A, B and C of Noya Electricals Ltd :

Rent

Electricity

Fire Insurance
Plant Depreciation
Transport

Estimated Working Hours

Total

3

1000
200
400

4000
400

Production Departments

A

3
200
50
80
1000
50

1000

B
4

400
80

160

1500
50

2500

C
%
150
30

60

1000

50

1800

10

Service Departments

D
3
150
20
60
300
100

E
4
100
20
40
200
150

RTO.
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Expenses of the Service Departments D and E are apportioned as under :

A B %

D 30% 40% 20%

E 10%  20%

50%

D

20%

E

10%

(©) G “;mna'saqg” AR AT ' I SFEURON G0 IS
(@) frefafen g & suftema @ T: Wia Fo seifesed, waika & faum A B

3R C & IAEREA HI HA K HI AT HIGT

%l

2

ferran 1000
farstett 206
A S | 400
@iz frree 4000
arrard 400

A fohamenes w2

ol fawm D iR E & =@ 39 weR S T :.

A B
D 30% 40%

E 10%  20%

C

20%

50%

200
50
80

1000
50

1000

D

20%

ScareA fervm

B

3 ?

400 150

80 30

160 60

1500 1000

50 50

2500 1800

E

10%

LEUREE I
D
,‘?
150 |
20
60
300

100

100

20

40

200 |

150



(a)

(h)

(@)

(5 )
, 5
What is meant by overtime wages ? State its trentment in Cost Accounts.
From the following information comp;ue machine hour rate :
Cost of machine % 44,000
Scrap vlaue | % 4,000
| Rent for the v;mrkshop_ | ¥ 25,000 per annum
General lighting for the workshop % 160 per month
Power consumption 20 units per hour @ T 20 for every 100 units
Administrative expenses allocated to the machine | 4 4,000 per annum
Repairs and maintenance | 75% of depreciation
Workshop supervisor’s salary | 3,000 per month
Estimated working time per year - 50 weeks of 40 hours each
Setting up time which is fegardgd as productive time 200 hours per year
No power is consumed during éetting-up time
Effective life of the machine 10 years

The machine occupies 1/4th area of the workshop. The supervisor is expected to devote

1/3rd of his time in supervising the machine. 10

aﬂﬁtmﬂﬁqﬁﬁwﬁm%?mwé@iﬁﬁwmw
FHIfST |

RTO.
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® erafefad gaa ¥ WA S S H T I

9 & AN . T 44,00
gEA e (Scrap vaue) - | T 4000
rfeTen w1 TR | | 225000 W o
FEATTE 1 TR SR ' 2 160 ¥
20 TFE Ui HeT wE H ST | @ T 20 9fd 100 3R
WA W s g = | 3 ~ %.4,000 fq ¥
A SR T | | - TR W o7sy
FEET GIRAER 1 A | 23,000 ¥ @
gt wfe o s w0 40 W TS & 50 UEE
Wi 9SR H IEE T . 200 52 wfq =9
wﬁaaaéﬁamﬁmmmaﬁ |

W G e . 10. 7%

WA BRI F 14 & W ¥ GRAmR ¥ om # wt § f 9w e
/3 W Wi A g W @ =

Or
(areram)

(¢) Discuss the treatment of over/under absorption of overheads. - ' 5
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(d)  From the following, prepare a Cost and Production Statement of Nayonika Stoves

Manufacturing Co. for the year 2015-16 :

4
Stock of materials on 01-04*2.015 35,000
Stock of materials on 31-03-2016 4,900
Purchase of materials 52,500
Factory wages 95,000
Factory expenses 17,500
Establishmc;nt expenses 10,000
Completed st.ock fn hand on 01-04-2015 _ Nil
Completed stock in hand on 31-03-2016 35,000
| | 1,89,000

Sales

The number of stoves manufactured during the year 2015-16 was 4000.

The company wants to quote for a contract for the supply of 1000 Electric stoves during

the year 2016-17. The stoves to be quoted are of uniform quality and make similar to

those manufactured in the previous year; but cost of materials has increased by 15%

and cost of factory labour by 10%.
Prepare a statement showing the price to be quoted to give the same percentage of

net profit on turnover as was realized during the year 2015-16, assuming that the cost

per unit of overhead charges will be the same as in the previous year. 10

PT.O.
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(¢) U & fd/319 sfaigon (Absorption) F1 aof i |

() Frefafen 3, aﬁzolsma‘raﬁaﬁmwﬁtﬂ@wmwmﬁmé@m
AR IR foerm Far wifsw

01-04-2015 = Thy T | | 35,000
314032016 H ThY W ' 4,900
et H A | __ | - 52,500
B T | | 95,000
Tl g | | 17,500
QG =59 - | 10,000
01-04-2015 ® I fF T wiE ay A i Nil
31-03-2016 ®1 o foFen 0 wE @y # 35,000

[EED] o | | 1,89,000
aﬁzm&m%é‘mwﬁa@mﬁﬁw#ooo of | |

aﬁ?zolﬁl?%éﬁmmmﬁloooséﬁ%@mﬁwﬁéﬁﬁm%mﬁ@
(Quote)malﬁ?ﬁ%l@Wﬁﬁﬁﬂﬁﬁ@mte)ﬁmm%aww
F T IR frod ool § s & o § T W AW 15% §g T ¥
AR B AT F AW 10% | W T ¥

T o AR A A v R w9 e e ) s

‘r&‘@rasﬁﬁ?aﬁzmsmﬁmgé & A g o i s g e
® wifa & &
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(¢)  Distinguish between job costing and process costing. 5

(b) Abeer owns a fleet of taxies as the following information is available from his

records :
Number of taxies 10
4
Cost of each taxi 20,000
Salary of manager 6,000I p.m.
Salary of acgoﬁntant 500 p.m.
Salary of cleaner 200 p.m.
Salary of mechanic 400 p.m.
Garage rent 600 p.m.
Insurance premium | 5% per annum
Annual tax | 600 per taxi
Driver’s salary | 672 p.m. per taxi
| Annual repair - ~ 1000 per taxi

Total life of a taxi is about 2,00,000 km. A taxi runs in all, 3,000 - in a month of
which 30% it runs empty. Petrol consumption is one litre for 10 km @ % 49. Oil and

other sundries are Rs. 5 per 100 km.

Calculate the cost of running a taxi per km. - 10

P.T.O.
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(@ & e (job costing) X UiHA @A (process costing) H 3T Hifery |
(b) WﬁﬁWWWWT@m%,M#%@ (records)ﬁﬁﬂﬁif@aw

T B
el # wE -
3
TS A H o 20,000
THE H A | 6,000 W1 g
ORI S 500 WA =T
FAR e 200 W e
e & AT 400 wfd @
NS &1 T 600 9fd HrE
sften Sifees 596 wfa
It T - . | 600 vfa ot
CAECEC A I TE 672 Wi wE wia o
It o 1000 wfq et

Sl 1 e S AT 2,00,000 R ¥ T SR i @ 3,000 RS
Tt ¥ T 30% @t gerd g1 Y9 w1 39dm w10 feed @ ¥4
% @ @ 3= wed wia 100 fREMR W T 5 oM R

TF N F oyfy FRAEIR SO S A o i



Or
(379ra)
Ekta Constructions obtained a contact for Rs. 4,00,000. Work commenced on 1 January 2015

with the following expendiuﬁ'e :

Stores and materials Rs. 72,000
Wages Rs. 65,000
Plant and Tools Rs. 20,000
Sundry Expenses ' Rs. 5.,300 and
Establishment Charges | Rs. 11,700

The value of plant and tools on site on 31 December 2015 was ¥ 6,200. The value of stores

and materials was ¥ 3,400 and the cost of uncertified work was ¥ 21,900. It was later certified

for Z 25,000. Cash received T 1,40,000 being 80% of work certified.

Certain materials costing ¥ 12,000 were unsuited to the contract and were sold for

¥ 14,500. A portion of the plant was scrapped and sold for < 2,300.
The contractor wished to take profit on this contract on estimation basis and the following
estimates were made :

(1) That the contract would be completed by 30 September 2016.

(2) That further wages required would be ¥ 71,500.
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(3) That further stores and materials required in addition to those in stock on

31 December 2015 would be ¥ 68,600 and that of sundry expenses would be
~ Rs. 6,000.

(4) That further plant and tools required would be % 25,000 which would have residua] value

of ¥ 3,000 on completion of contract.
(5) That establishment expenses would cost the same per month as in 2015.
(6)  That 2'2% of total cost of the contract would be charged as a provision for contingencies,

Prepare Contract Account. . 15

THAl HHGRIE hl Th FWIT T 4,00,000 1 9 B §1 1 5990 2015 &) ey =5
% WY FHH Y& o T

YERU e qreh - Rs. 72,000
ASIgl . : Rs. 65,000
e WE YR | | Rs. 20,000
TR = Rs. 5,300 qem
T YR o  Rs. 11,700

31 IGHWR 2015 &1 @i T U Hl e TR W T 6,200 911 SSRO U g
H I X 3,400 o SR SrwEdiFa F (uncertified work) 1 T 2 21,900 1 FE
4 38 2 25,000 THHFA R T 80% HE W W S W T WifE 1.40,000
foet |

@@wﬁm%12,000@%%%@WW@ﬁzm,sooﬁamwnw
F TEH 9 EEEA B T fSge 2,300 H oS=1 T
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SR I TR W AT YR W A OFT e o sl Freifafaa oA 9

-

™
(I) Wfaer 30 faamr, 2016 7o qu @ forn wmam|
(2) =&Gh w1 sffem s fmar SR 2 71,500 )

(3) 31 feueg, 2015%‘rmﬁaaumqawmﬁrﬁamawm@rﬁfsssooamw
=g T 6,000 B |

4) oo @ie Td sy =fee ¢ 25,000 @ FE T 9ed GER @ O
84 W T 3,000 B

(5) T YUR 2015 & foa & &y

(6) a@@m@mmwummﬁwwwz%%@m

i @ s Ed |

(a) | Distinguish between normal loss and abnormal loss under process coéting. 5

(b) The following is the Profit and Loss Account of Ahaan and Sons for the year ending
31st March 2016 : |

Profit and Loss Account for the year ending 31st March 2016

§
To Direct Materials 10,000
To Direct Labour | | | 20,000
To Factory Expenses ‘ 9,500
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To Administration Expenses 5.200
To Selling and Distribution expenses | 3.800
To Interest on Capital | 1,000
To Goodwill written off 1.500
To Net Profit 3,000

54,000
By Sales : 50.000

By Work-in-Progress in hand :

Direct Labour 600

Direct Material 400

Factory Expenses 300 1,300
By Finished Stack in hand | | 2.700

34,000

Cost Accounts manual states that the factory overheads are to be recovered at 50%
of direct wages, administration overheads at 10% of works cost and selling and

distribution overheads @ Re. 1 per unit sold.
The units of product sold and in-hand were 4,000 and 257 respectively.
Prepare : 1. Statement of cost and profit as per Cost Accounts,

2. Reconciliation Statement. 10
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(a) WfSRaN Sl & S W @ T SR (Abnormal) BT A SRR I
(b) 31 €, 2016 & fou oMM e €W 1 Y w9 @iy @ fretated 9
31 WrE 2016 wt wTw od @ g aw-gf @

z
T WGt 10,000
TEY 5| 20,000
e = 9,500
TR S9Re 5,200
fosrg wa famw yaR 3,800
TSt | = 1,000
Tefae smfafea =t nz-f 1,500
IS Y | 3,000
54000
IEEQ 50,000
gy H yfa-w-Hd
g oM 600
g SR 400
Ha = 300 1,300
ot féan T (Finished) @Y Bg H 2,700
54,000
e——

P.LO,



(©)
(d)
(¢)

()
(d)

(e)

(a)

(b)

'Rate method of absorption of factory overheads.

( 16 )

6

mﬁ@mﬁmm%ﬁwmy:wﬁﬁ%mawﬁm

50%, WTHAE Iuftema &Rl o @ 10% aen fasma t{afaﬂrwscrhaa @ Re.
| ufd o<t gemrd )

el T gl H owen S @ W OwE: 4,000 9 257 o)
W:l.wﬁ@iﬁ%%m@aﬁﬁﬂwwwmn

2. Y e ('Reconciliation Statement) |
Or
(3reram)

Distinguish between controllable cost and uncontrollable cost by giving example. 5
Distinguish between scrap and wastage. How are they treated in cost accounts ? 5
Explgi_n in brief the Percentage tq Direct Labour Cost Method and Direct Labour Hour
5

Frifr @ ol st @ § S SRR HR)

QL= (scrap) GUT AU (wastage) H 3R DT |- 3¢ A @l § 4 fT@rm
S ¥ ?

%ﬁmimmwammmﬁﬁwﬁﬂmammg@q
T guig shifsa

How would you treat profit on incomplete contracts in cost accounts ? Explain with

examples. 5

What is Activity Based Costing ? State its advantages.



(c)

(@)
(b)
(€)

568
(17 )

G S ' g 6
aurav Handicrafis Ltd. gives you the following information for its factory working

days in a week .

() Hours as per T{me Card 48 Hours
(if)  Hours booked to jobs as per Job Card 36 Hours
(#ii) - Daily allowance for lunch, personal needs and fatigue 40 Minutes
(iv) Wage Rate per hour | o | T 20

(v) The time not booked was due to breakdown of machinery, power failure and

waiting for jobs.

You are required to compute idle time wages. How would you deal with such wages

in Cost Accounts ? ' 5
Em?ﬂgmﬂw{tﬂﬁmﬁwwqmwmﬁaﬁﬁ ? AR JegEd |
nfafafu wmﬁawé&mw%?w@wﬁmwﬁﬁm|

Wmﬁﬁﬁﬂmﬁﬁaﬁﬁ%ﬁwmﬁﬁﬁﬁwﬁf@awm
UGS

(i) g FE & feww @ W T
(i) wm(JObCard)ﬁﬁqﬁﬁaTr{f\%ﬁ‘q% 36 B>
(m)'aﬁiﬁﬂ%'ﬁ%ﬁﬂtﬂ'a ﬂﬁﬁ‘ﬁaﬂmaﬁaﬁﬂ?ﬂ?%@ 40 T
(iv)wﬁraana(ﬂa .. -
v) Wﬁw%ﬁﬁﬁﬁﬁmaﬁiwimmgmq
Vv
sfard (booked) FHAL
ﬁmmm@ﬁmﬁmlmmé@mﬁmm@mw

7

PET.O:



( 18 )

Or
(3174

(d) Vaani Electronics (P)-Ltd gives the following particulars relating to Process A in its plant
for the month of December 2015 -

Work—in—progréss ?
(Opening balance) on 1-12-2015-500 units : Material 4,800
| Labour 3,200
Overheads 6,400
14,400
Units introduced duriné the month — 19,500
Processing costs occurred during the month :
i'\daterials % 1,86,200
Labour | | : 72,000
Overhéads - 1,06,'400 T 3,64,600
Output : |
Units transferred to .Proces_s B 18,200
Uﬁits scrapped (comjaletelﬁ' procesSed) - | 1,400
Work-in-Progress (closing balance) 400

[Degree of completion : Materials 100%, Labour and Overheads 50% ]

Normal loss in processing is 5% of total in

Put and normal scrapped units
fetch Re. 1 each.



(@)

(19 ) 568

Prepare the following statements for Pfocess A for December 2015 :
()  Statement of equivalent production

()  Statement of cost

(7)) Statement of evaluation

(iv) Process A account. : ' 15

I SRR (W) T REA A ® GeY § I wie @ fager 2015 A6

it -
(URfF 9I%) 1-12-2015 — 500 THE - | ?
| [t 4,800
S 3,200
Il 6,400
| 14,400
g & SN URfad (Introduced) 3918 — 19,500
e b f‘l’fﬁ HF%"QT A .
T 7186200
9 | 72,000
sufeqg | 1,06,400 T 3,64,600

P15



568

( 20 ) .

fid (Output) -
i B =y Wﬁ—d zepTgal
T e (o S .
- (afm 9m) - | 400
[ & ferft « e 100%, 59 T STREA 50%]

‘STFE‘QT L R i ST (Input)m 5% A9l HHA Igrr:Fr (Scrapped)sm
Re. 1 Weirs % fogm ¥ W@ wE S

18,200

1,400

ﬁWNlS%WmAEﬁﬁwﬁﬁaﬁmw@.:

() HHHE (Equivalent) 3cqGA a1 e
(7)) <rTd T%IERUT
(iii) HeATRd faazo

(Gv) FRET A FT @

800
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B @ fog fdw

1 - @ e 8 oW R T iR e W s s
ferfag |

2. |t WE ST |

3. @it v & F T

4. TEWEA-TA HIW U A TR Rt v s F e, A g
IOl AT T € BT AIRY |
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569 2

1. (2) ‘HRM is a basic management function pertaining to

all levels and types of management.” In the light of
this statement, explain the nature and functions of

HRM. (8)

(b) Write a note on the organization of HR department.
O
OR

(2) What is Voluntary Retirement Scheme ? Why do

organizations offer VRS to their employees ? (8)

(b) Differentiate between HRM and personnel management.

(7)

() W g v e v e € W vEn W S
T AR FE e i |

(@) HR fvm & Tow W e fREw

Jr=rdn

(m)ﬁw%mﬁqﬁmﬂmﬁﬁ%?w' f&maﬂmmﬁl

wHaRal = VRS ¥} @ wEE w8 7

(®) HRM 3R = yeior # W @y |

369 3

2. Describe the process of HR planning, bringing out clearly its

quantitative and qualitative aspects. (15)
OR

Distinguish between Job Analysis and Job Description. What
is the importance of Job Analysis in HRM ? What are the
steps involved in the preparation of Job Analysis ? (15)

HR smsH &t vfkar &1 aofq #ifve 3k w08 womes sk
TS GEgal W W HIY |

Jrerar
S fagetwwr st S aof ¥ e we2e 1 HRM ¥ wite fgaor
N F e B B 7 W R HR e ¥ 6 wen)
I TAEY |

3. (a) Explain the benefits of training from the organization

point of view. Why is On-the-job training is preferred to
Off-the-job training ? (8)

(b) Discuss 360-degree feedback of performance appraisal.

(7)
OR

(a) Explain any two techniques of management development.

(8)

FTO,



569 4

(b) Distinguish between Transfer and Promotion. (7)

(%) wea & IRewior ¥ e & w9 aweEn 9w =
Frw ® fF Wi W @ §Y wiRe w, Se Q¥ See gdwn
¥ I @ oW R ?

(@) TAses i & 360 R wlgie = fe=mr fvwe
Jrerat

(%) weiu P A A @ weel o sen Sk

(@) mmaﬁiqaaﬁfi}maﬂmn

4. (a) Describe the components of Employee Compensation.
State the role of HR manager in administering

compensation program. (8)

(b) Differentiate between Social Insurance and Social

Assistance. ' (7

OR

(a) Describe the different kinds of welfare activities usually
undertaken by large sized organizations in India. (8)

(b) Discuss the advantages and limitations of Job Evaluation
as a basis of administering wages and salaries. (7)

569 | 5

(%) T ARG F e w1 i e | R a @
waET ¥ HR V&g & qfiar @1 sera Sk
(@) wrnfors dFT SR wEforn e ¥ R w@rEy |
Jrerar

(F) 9T ¥ ¥ FGR P TEA B FER W F AR G
Rt e =t sevet okl & e HfRw

(@) Rl sk a9 it Ram @ MR D w9 ¥ Siw qears
B o ok Amd A R B
5. Write short notes on any three of the following : (5,5,5)
(a) Workforce Diversity
(b) Vestibule Training Mt-athodl
(¢) Employee Counseling

(d) Induction

(®) Grievance Handling Procedure

(®) Human Resoyrce Information System

P.T.O.
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( 2 ) 570

(@)  What is economic development ? Exp\éin Goulet’s core

values of development. 17

(b)  “The relationship between population and economic

development is two-sided relationship.” Comment. 7'
(%) o fawma ¥ =0 ad ? ™ & faem

& oieRE T W smem wifw
(@) “'~EE Wi anfiE faw & W ey e

TEy ¥ fewh wAfe
Or
(3teram)

(@) Discuss non-economic factors affecting economic
development of a countr}. : 7Va
(b)  What is occupational structure ? Explain the causes of

stagnation in occupational structure in India. T2

() &t o & onfdfs fawmg = ywfam =3 9@
ffRT wRa w1 fadER wifg

(E}mwﬁaﬁaﬁﬁwim% ? gy #
AR 2 H el $ wnel @ o
HITAT |

( 3 ) 570

Explain the economic reforms measures which India has taken
for structural adjustment since 1991. What are the achievements

of these reforms ? Discuss. 15

1991 ¥ HrEAc® gEERE  faw wra. g feg
Waﬁ%gwmaﬁwaﬁm|ﬁgaﬁ
R SueiferEl T ¥ 2 fadem wfT

Or
(31er)
Briefly describe the land reforms in India. What are the

reasons for slow progress of land reforms in India 2 15
wea d ufn g owAw d v =

# wufy gy il TR F o oww gwo § o
(a) “There is a close interdependence between agricultural

and industrial development.” Explain. 7
(b)  Discuss the emerging issues that need to be tackled

urgently in Indian agriculture sector. 74

P.T.O.



(4 ) . 570

%) ‘' o ddefe faem # U st
ey ¥ R wif) | |
(ﬁ) TR S %ﬂﬁmﬁqmgﬁmﬁa'aﬁ
s T wfiomn & @ A R STEwIRD
2 | |
o
(31ea)
What are the causes of low productivity in agricultural sector ?

Discuss the achievements and failures of New Agriculture

Strategy in this context. 15

F &% A o sEE@ & I wRO ¥ ? T
el 1% e #1 wwer@el oiR STt
W oTE wie |

4. (@)  Disucss the major industrial changes that have taken

place since 1991. 7V

(5)  What major reforms have been made for public sector .

in Industrial Polic-y since 1991 ? 772

£ 5 ) 570
(%) 1991 & UvER §U Y@ Sieifrs wREdal @
fad=m =it |
(@) 1991 % U9 gEws &9 % fou siefie
Hifs § 1 yg@ YR fHF ™ § 2
o |
(37eram)

Bring out the various problems faced by small and medium
scale industries in India. What kind of steps have been

taken up by Government of India to overcome these

_ problems ? 15

Y § @Y e wem Y @ s @ gne faRe
Taeelt 1 i eifed 3 gEEed 9 fAued &

Y 9YRg SR 3 fF9 THR & 9 ]| § 7

(a) Analyse the trends in the current account of balance
of payments since 1991 with the help of the data given

in the table. 7Y



( 6 ) . 570 (7 ) p

(%) R T afaw 7 A W sl # i oweg
¥ 1991 F AR YTH I F A WW

() ~ Compare import substitution and export promotion trade

| strategies in the context of Indian economy. 7%
3 Al & fawwww wiE . (@) ARdE degaeer & e § o wfaeerds
Table : Key components of India’s balance of payments. | s . A . d l
= 0.’.
(US $ million)
(37era)

ltem/year 1990-91 2000-01 2012-13 2013-14 , . o :
(@) Discuss the role of foreign capital in a developing

. Merchandise

country like India. 7
(a) Exports, f.0.b. 18477 45452 306581 318607 (b)) What have been the causes for deficit in balance of
trade since 1991 ? 7
(b) Imports, c.if. 27914 57912 502237 466216 . .
(%) wra S fawmaeier <o & faqef St &1
Trade Balance (A-B)  -9437  —12460 -195656 —147609 w1 oA st
| i B
Il Invisibles net 242 9794 107493 115212 (W) 1991 ¥ =OR 9 H "R & T FRU W}
g 2
lI. Current account (I+1I) 9680 2666 -88163 32397
Or
V. Overall balance (I11+1V) -2492 5868 3826 15508 ‘ (For Visually-Impaired Persons)
' Write a note on World Trade Organisation. Bring out the
VI Monetary movements 2492 ~ -5868 3826 15508 | | _ |
various issues of concern to developing countries like India,
Source : Hand book of Statistics on Indian Economy, \ arising out of WTO agreements. 15
RBI. |

P.T.O



( & 3 . 570

(afeaferm whenfddl & form)

v SR WA R T fromi fefe) fava o
e R A IQE A @ faskreeiia o B
frq Wi @ ffE 9eE W wEw St

570 I
| - _ 8 70
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Section A : Micro Economics

WE ® : AEH TR

(a) Dirferenuate between price eiastlmty and cross elastzcﬁ:y
of demand. ' (7)

(b) Derive the relauonship between AR MR and elastlcny.
of demand. Why is the elasticity of demand equal
to infinity in case of 2 perfectly competltue firm ? |

44

(&) #a | 3R A R %‘f&r e T ,

(@) AR, mﬁvmaﬁmﬁma&"'

wroT B T gl ﬂ%ﬂﬂﬁﬁ%%ﬂﬁmﬁmm d*l*iddl
® IR B B 7

2. (a) Show income and?tsubstitutxon &ffeot fog‘ a fall in the

price of a normal good.

~(10)

(b) Derive the demand curve for a normai geod fmm the
price cousumptlon curve |

(%)

() Wﬁﬁﬂﬂaﬁﬁm%ﬁqmaﬁtwﬁww%
W el SR

(ﬁ)mwwﬁwmﬁ%wm% ——
HWE 1
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3.  (a) Why are short run cost curves U shaped 7 Explain.

(5)
(b) Differentiate between the following :
(1) Accounting and Economic cost
(ii) Fixed and variable cost (5,5)

(=) WWWU&%W%@%%?WWI
P PP e
(;.ii) et i R g

4. (a) What is peak load pricing 7 How is peak load pricing a
better option ‘than uniform pncmg for a publw utility

electrmty company 7

(b) What is dead Wexght 1035 ? Elabopﬁte ' '(10,5)

(F) ﬁm%ﬁmwﬁm%?mﬁﬁﬁmﬁmﬁﬁ
aﬁ%%quﬁwaﬁuﬁw%,ﬁmmﬁuﬁw

g YER qe e § 7

() s i A 2 7 e A

Pl
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§.  (a) What is Prisoner’s dilemma ? Discuss.

(b) Explain the concept of multiplant monopoly. What are

the conditions for maximizing profits ? (7%,7%)

(=) W@HW%T%?WWI

(@ )Wmﬁwﬁwﬁﬁmmaﬁ
FAHTFT F & g W ww ¥

Only for Visually impaired (no dlagr&ms are I‘-f?quffed)

(In lieu of Questions 2 -an-d 4) Y

HIN T Wﬁmﬁmé‘ﬁm (aaﬁia‘é%aﬁ anaaaamr
o ?)

(W > 3 4 % t{?ﬁr i})

(a) Why are mdﬂferenc;e curves downward s]opmg and |
convex to the omgm‘? Give reasons

(b) Explain the pri'c_e', income*and sﬁbs’t_-iﬁ__it-i?oﬁ.effec:t- for fall
in price of a normal good. ' (7%,7%)

(%) T @R @ & AR 9w = @ @R Twdl 3R IEm
R IO B F P WO AR |



n

1602

(@) W/ 39 & FFE A fige W @, J 3R e
= WEE Bl B, SRl ST |
_4. (a) Compare perfect competition with monopoly. (10)
(b) W’rite a note on kinked demand curve. (3)
(=) T Wl Y TERER B AT gE I |
(@) free w9 w o fofew |
_S_ectiﬂ;n B : Macro Economics
wz @ : wte s
6. (a) Explain the following concepts :
(i) APC and APS
(i) MPC and MPS

Does there exist any relationship between these

concepts ? (7%2)
(b) What is the multiplier ? How does it work in a two
(7)

sector economy ? Explain.

P.T.O.
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() FeafoiRes gwemat &t @R #ifw
(i) APC 3R APS
(i) MPC 3 MPS

T S @ A HE gay T g 7

() o v A # 7 3 A e A 9w B AR A

7. (a) Differentiate between "D'ém'aﬁd.;- -puﬂ—-_‘-aﬁd- Cost — push
inflation. = AT ‘ (7%)

(b) What is inflation ? Discuss the ﬁ:l._c}netary measures to
check inflation. S L (7%)

(w) whifa o B 2 7 il afEe we @ At sl 96t
T i |

8. (a) Define monetary policy. What are its objectives ?
()
(b) Discuss the different instruments of monetary policy.

(10)
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(@) Abw M N Rawr S 1w T w7 ¥

(@) AR M D (AR STl < BT ARw

9. (a) What are the Current Account and Capital Account of

the Balance of Payments ? What are the it-éms included

in these two .'agcoun-ts ? (10)

(b) The .'Ba-lanc.e __{;)ff :Payments of a é:ountry always remains

(5

in balance: E@mént
(=) mﬁ%ﬁmﬂ@msﬁtﬁﬁmwﬁ%? Ealkl
- e s R 4
(@) @ R gmwh G wdw dw X wd €7 foed
10. .Write short notes on. any two of the following :
(i) Consumption function
(ii) Causes of inflation

(iii) Instruments of fiscal policy

Balance of Payments

(iv) Control of disequilibrium in the
(7%+T%)

P.T.Q.
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frefelfad & el @t Wl fewafomr fofag

(i) @ud we=
(i) wAifs & @ro
(i) ToRME AT & I

(iv) SRmd 3w ¥ swgeT @ e
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